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1. The present chairman of Steel Authority of India   

1. Anil Kumar Choudhary 

2. Rajanikanth Mishra 

3. Ashok Gupta 

4. Pramod Bindal 

 »dÓ¼ýÙ n<ó�]{¡ �|�t �+&�jáÖµ ç|�d�TïÔá #óîÕsÁ�H� 

 1. n�ýÙ Å£�eÖsY #ê<ó�] 

 2. sÁÈ�¿±+ÔY $TçXæ 

 3. nXË¿ù >·T|�ï 

 4. ç|�yîÖ<� _+<�ýÙ 
 

2. The first practical IQ test was invented by 

 1. Alfred Binet, Theodore Simon  

 2. Edward Teller 

 3. Alfred Albert 

 4. Mayer, Salovey 

 yîTT³¼yîTT<�{ì ç|�jîÖ>±Ôá�¿£ IQ |�̄ ¿£�qT ¿£qT>=�qy�sÁT 

 1. �ýÙç|��&� _Hû, ~¸jîÖ&�sY �dÕeTH�  

 2. m&�ÇsY¦ fÉ\¢sY 

 3. �ýÙç|��&� �ýÙ�sY¼ 

4. yûTjáTsY, d�ýËyû 

win
Oval

win
Oval

win
Oval

win
Oval
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3. On this date, the day time and night time are approximately equal 
throughout the world 

 1. September, 23 

 2. December, 22 

 3. June, 21 

 4. April, 11 

 ç|�|�+#áy�«|�ï+>± s�çÜ, |�>·\T d�eÖq+>± �+&û Ôû~ 

 1. �d�|¼+�sY, 23 

 2. &��d+�sY, 22 

 3. pH�, 21 

4. @ç|¾jáTýÙ, 11 

 

4. The article in Indian constitution that deals with Union Territories is  

 1. Part - II (Article 1-4) 

 2. Part - VIII (Article 239-241) 

 3. Part - III (Article 12-35) 

 4. Part - IVA (Article 51A) 

 ¹¿+ç<�bÍ*Ôá çbÍ+Ô�\Å£� d�+�+~ó+º uó²sÁÔá s�C²«+>·+q+<�T � �]¼¿£ýÙ  

q+<�T ç|�kÍï$+#á�&�+~ 

 1. uó²>·eTT`II (�]¼¿£ýÙ 1`4) 

 2. uó²>·eTT`VIII (�]¼¿£ýÙ 239`241) 

 3. uó²>·eTT`III (�]¼¿£ýÙ 12`35) 

4. uó²>·eTT` IVA  (�]¼¿£ýÙ 51A) 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval
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5. 16th December is declared as 

 1. Doctor’s day 

 2. Language day 

 3. Nirbhaya Day 

 4. All souls day 

 &��d+�sY 16e Ôû~ � ~q+>± ç|�¿£{ì+#á�&�+~ 

 1. &�¿£¼sÁ¢ ~q+ 

 2. uó²cÍ ~q+ 

 3. �sÁÒÛjáÖ ~q+ 

4. �Ôá�\ ~q+ 

 
6. The first University established in India 

1. University of Calcutta 

2. Delhi University 

3. Madras University 

4. Banaras Hindu University 

 uó²sÁÔá<ûXø+ýË yîTT³¼yîTT<�³ @s�ÎfÉ®q $XøÇ$<�«\jáTeTT 

 1. jáTÖ�e]à{¡ �|�t ¿£\¿£Ô�ï 

 2. &ó�©¢ jáTÖ�e]à{¡ 

 3. eTç<�dt jáTÖ�e]à{¡ 

4. �H�sÁdt V¾²+<�Ö jáTÖ�e]à{¡ 

 

 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval
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7. India’s National Aquatic Animal 

1. Crocodile 

2. River Dolphin 

3. Catla Fish  

4. Green Frog 

 uó²sÁÔá C²rjáT Èý²esÁD È+ÔáTeÚ 

 1. yîTTd�* 

 2. ]esY &�*ÎÛH� 

 3. ¿£³¢ #û|� 

4. �Å£�|�#áÌ ¿£|�Î 

 

8. Andaman and Nicobar Islands are located at 

 1. Bay of Bengal 

 2. Indian Ocean 

 3. Red Sea 

 4. Arabian Sea 

 n+&�eÖH� �¿Ãu²sY BeÚ\T �¿£Ø&� ¿£\eÚ 

 1. �+>±Þ²U²Ôá+ 

 2. V¾²+<�Ö eTV�äd�eTTç<�+ 

 3. mçsÁ d�eTTç<�+ 

4. n¹s_jáÖ d�eTTç<�+ 

 
  

win
Oval

win
Oval

win
Oval

win
Oval
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9. This state is known as India’s spices garden 

1. Karntaka 

2. Telangana 

3. Madhya Pradesh 

4. Kerala 

 uó²sÁÔá<ûXø+ jîTT¿£Ø d�T>·+<ó�ç<�y�«\ ÔÃ³>± |¾\Te�&û s�çw�¼+ 

 1. ¿£s��³¿£ 

 2. Ôî\+>±D 

 3. eT<ó�«ç|�<ûXÙ 

4. ¹¿sÁÞø 

 

10. The largest State that produces Soya Bean in India  

1. Madhya Pradesh 

2. Kerala 

3. Gujarat 

4. Goa 

 uó²sÁÔá<ûXø+ýË kþjáÖ;H�qT mÅ£�Øe>± �ÔáÎÜï #û�d s�çw�¼+ 

 1. eT<ó�«ç|�<ûXÙ 

 2. ¹¿sÁÞø 

 3. >·TÈs�ÔY 

4. >Ãy� 

 
  

win
Oval

win
Oval

win
Oval

win
Oval
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11. The historic trip to space was made by Rakesh Sarma in this space 
craft 

1. Sputnik - 7 

2. Appolo - 11 

3. Progress - 1 

4. Soyuz T - 11 

 s�¹¿wtXøsÁ� � �|�ç>·V�² Hê¿£ýË #�]çÔá¿£ n+Ôá]¿£�jáÖq+ #ûXæ&�T  

 1. d�TÎÜ�¿ù̀ 7 

 2. nbþýË`11 

 3. çbþçÂ>dt̀ 1 

4. kþjáTCÙ {ì̀ 11 

 
 

12. Arundhathi Roy was awarded ‘Man booker Prize’ for her book titled  

1. Last orders 

2. The God of small things 

3. White Tiger 

4. The Ghost Road 

 nsÁT+<ó�r s�jYTÅ£� � |�Úd�ï¿£ sÁ#áqÅ£� >±qT »eÖH� �T¿£sY ç�|ÕEµ �eÇ�&�+~ 

 1. ý²dt¼ �sÁ¦sYà 

 2. ~ >±&� �|�t kÍ�ýÙ ~¸+>´à 

 3. yîÕ{Ù fÉ®>·sY 

4. ~ |��TËdt¼ sÃ&� 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


13. The highest waterfall in India  

1. Kunchikal falls  

2. Jog Falls 

3. Kynrem falls 

4. Barehipani falls 

 �+&�jáÖýË mÔîïíq È\bÍÔá+ 

 1. Å£�+º¿£ýÙ È\bÍÔá+ 

 2. CË>´ È\bÍÔá+ 

 3. ¿ìçHîy�T È\bÍÔá+ 

4. uñ]V¾²bÍ� È\bÍÔá+ 

 

14. The first Central Cabinet Minister for Education who was awarded 
with ‘Bharat Ratna’ 

1. Morarji Desai 

2. Zakir Hussain 

3. Abul Kalam Azad 

4. J.P Narayan 

 »uó²sÁÔá sÁÔá�µ ny�sÁT¦ bõ+~q yîTT³¼yîTT<�{ì ¹¿+ç<� $<�«XæU² eT+çÜ 

 1. yîTTs�¯¨ <ûXæjYT 

 2. C²¿ìsY V�Q�dàH� 

 3. n�TýÙ ¿£ý²+ nC²<� 

4. CÉ.|¾. H�s�jáTDY 

 

 

  

win
Oval

win
Oval

win
Oval

win
Oval
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15. Gitanjali, written by Rabindranath Tagore is a collection of  

1. 101 poems 

2. 120 poems 

3. 184 poems 

4. 157 poems 

 sÁM+ç<�H�<�̧ sÄ�>·ÖsY sÁº+ºq ^Ô�+È* |�Úd�ï¿£+q+<�T >·\ ¹>jáÖ\T  

 1. 101 ¹>jáÖ\T 

 2. 120 ¹>jáÖ\T 

 3. 184 ¹>jáÖ\T 

4. 157 ¹>jáÖ\T 

 

16. This film has won the prestigious ‘Golden Peacock’ Award in 48th 
IFFI - 2017  

 1. 120 Beats per minute 

 2. Moonlight 

 3. The square 

 4. The salesman 

 48e IFFI – 2017 q+<�T ç|�ÜcÍ¼Ôá�¿£ »>ÃýÉ¦H� |Ó¿±¿ùµ ny�sÁT¦q+<�TÅ£�q� ºçÔá+ 

 1. 120 ;{Ùà |�sY $T�{Ù 

 2. eTÖH�ýÉÕ{Ù 

 3. <� �dØ ÇsY 

4. <� �dýÙà yûTH� 

 
  

win
Oval

win
Oval

win
Oval

win
Oval
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17. Nobel prize awardees in Medicine for the year 2018  

1.  Emile Theodore, Kocher 

2. Ronald, Ross 

3. Niels Rybers, Finsen 

4. James P Allison, Tasuku Honjo 

 2018 d�+eÔáàsÁ+ýË yîÕ<�«sÁ+>·+ýË HÃuÉýÙ �V�QeTÜ ç>·VÓ²Ôá\T 

 1. m$T* ~¸jîÖ&�sY, ¿=#óásY 

 2. sÃH�ýÙ¦, sÃdt 

 3. úýÙà ÂsÕ�sYà, |�¾H��dH� 

 4. Cñy�Tà |¾ �*d�H�, Ôád�TÅ£� V�²Ã+CË 

 
 
18. The country that hosted 2018 Common Wealth Games is   

1.  Canada 

2. England 

3. Australia 

4. India 

 2018 ¿±eTH� yîýÙï ç¿¡&�\T �sÁÇV¾²+|��&�q <ûXø+ 

 1. Â¿q&� 

 2. �+>±¢+&�T 

 3. �ç�d¼*jáÖ 

 4. �+&�jáÖ 

 

  

win
Oval

win
Oval

win
Oval

win
Oval
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19. The Indian Women athlete, known as ‘Payyoli Express’ is  

1.  Sunitha Rani 

2. P.T. Usha 

3. Sakshi Malik 

4. Aswani Nachappa 

 »|�jîÖ«* m¿ùàç�|dtµ n� |¾\Te�&�q ç¿¡&�¿±]Dì. 

 1. d�T�Ô�s�Dì 

 2. |¾.{ì. �w� 

 3. kÍ¿ì� eÖ*¿ù 

 4. nXøÇ� H�#á|�Î 
 

20. The author of ‘Dark Room’ was 

 1. RK Narayan 

 2. VD Savarkar 

 3. Annie Besant 

 4. Amartya Sen 

 »&�sYØ sÁÖy�Tµ |�Úd�ï¿£ sÁ#ásTTÔá 

 1. �sY.Â¿. H�s�jáTDH� 

 2. $&� d�y�sÁØsY 

 3. n� _�d+{Ù 

4. neTsÁï« �dH� 

  

win
Oval

win
Oval

win
Oval

win
Oval
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21.  Professional ethics is the code of conduct and, 

1.  self-regulation 

2.  self-assessment 

3.  self-rules 

4.  self-awareness 

e�Üïd�+�+<ó� HîÕÜ¿£Ôá nqTq~ ç|�esÁïH� �jáTeÖe[ eT]jáTT, 

1. dÓÇjáT �jáT+çÔáD 

2. dÓÇjáT eT~+|�Ú 

3. dÓÇjáT �jáTeÖ\T 

4. dÓÇjáT ne>±V�²q 

 

22.  Article-17 in the Indian Constitution is related to –  

1.  Fundamental duties of every citizen 

2.  Number of seats in Rajya Sabha 

3.  Hindi as official language 

4.   Abolition of untouchability 

uó²sÁÔá s�C²«+>·eTTq+<�* �]¼¿£ýÙ̀ 17 B�¿ì d�+�+~ó+ºq~ 

1. ç|�Ü båsÁT� çbÍ<̧�$T¿£ $<ó�T\T 

2. s�È«d�uó�q+<�* d�uó�T«\ d�+K« 

3. n~ó¿±sÁ uó²w�>± V¾²+B 

4. n+³s��Ôáq+ �sÁÖ�\q 

 

 

win
Oval

win
Oval

win
Oval

win
Oval
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23.  Which of the following is described as Magna-Carta of Indian 
Education? 

1. Sargent Commission 

2. Wood’s Despatch 

3. Macaulay Minutes 

4. Hunter Commission 

ç¿ì+~ y��ýË ÿ¿£{ì uó²sÁrjáT $<�«Å£� »eÖ>±�`¿±s�¼µ n� e]�+#á�&�q~ 

1. kÍÂs¨+{Ù ¿£MTw�H� 

2. �&�à &�kÍÎ#Y 

3. yîT¿±ýñ ç|�ÜbÍ<�q\T 

4. V�²+³sY ¿£MTw�H� 

 

24.  As per the NCF-2005, which of the following is the theme of EVS? 

1.   Weather  

2.  Solar system 

3.  Shelter 

4.  Energy 

NCF-2005  ç|�¿±sÁeTT, ç¿ì+~y��ýË ÿ¿£{ì �.$.jáTdt. jîTT¿£Ø  

�Üe�ÔáïeTT (theme) 

1. y�Ô�esÁDeTT 

2. kåsÁe«ed�� 

3. �y�d�eTT 

4. Xø¿ìï 

 

  

win
Oval

win
Oval

win
Oval

win
Oval
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25.  University Grants Commission was constituted on the 
recommendation of: 

1.   Dr. Sarvepalli Radhakrishnan Commission 

2.  Mudaliar Commission 

3.  Sargent Commission 

4.   Kothari Commission 

M] d¾b�ÍsÁd�T\ ç|�¿±sÁeTT jáTÖ�e]à{¡ ç>±+{Ùà ¿£MTw�H� @s�Î³T #ûjáT�&�+~ 

1. &�öö d�¹sÇ|�*¢ s�<ó�¿£�w��H� ¿£MTw�H� 

2. yîTT<�*jáÖsY ¿£MTw�H� 

3. kÍÂs¨+{Ù ¿£MTw�H� 

4. ¿=sÄ�¯ ¿£MTw�H� 

 

26.  Which of the following right was considered as “Heart and Soul” of 
the Indian Constitution developed by Dr. B.R. Ambedkar? 

1.   Freedom of Speech 

2.   Right to Equality 

3.   Right to Freedom of Religion 

4.   Right to Constitutional Remedies   

&�öö _.�sY.n+uñ<�ØsY#û sÁÖbõ+~+#á�&�q uó²sÁÔá s�C²«+>±�¿ì »V�äsY¼ n+&� 

kþýÙµ >± |�]>·Dì+#á�&�q V�²Å£�Ø.... 

1. y�¿ù kÍÇÔá+çÔá«eTT 

2. d�eÖqÔáÇ V�²Å£�Ø 

3. eTÔá�dÇ#áÌ V�²Å£�Ø 

4. s�C²«+>· |�]V�äsÁ|�Ú V�²Å£�Ø 

 

  

win
Oval

win
Oval

win
Oval

win
Oval
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27.  The first Indian Education Commission is popularly known as  

1. Hunter Commission 

2. Sargent Commission 

3. Mudaliar Commission 

4. Sadler Commission 

»yîTT³¼yîTT<�{ì uó²sÁrjáT $<�«¿£MTw�H�µ >± ç|�d¾~Æ#î+~q ¿£MTw�H� 

1. V�²+³sY ¿£MTw�H� 

2. kÍÂs¨+{Ù ¿£MTw�H� 

3. yîTT<�*jáÖsY ¿£MTw�H� 

4. kÍ&�¢sY ¿£MTw�H� 

 

28.  Which of the following was not included under ten core areas 
suggested by the NPE (1986) for curriculum?  

1. Inculcation of scientific spirit 

2. Equality of sex 

3. Promotion of professional ethics  

4. Small family norm  

¿£]Å£�«\y�T q+<�T NPE (1986) d�Öº+ºq |�~ eTò*¿£ sÁ+>±\ýË  

�|s=Øq�&�� n+XøeTT 

1. XæçdÓïjáT <ó��¿£Î<¸��� �|+bõ+~+#áT³ 

2. *+>· d�eÖqÔáÇ+ 

3. e�Üï|�sÁyîT®q ç|�esÁïH� �jáTeÖe[� çbþÔáàV¾²+#áT³ 

4. ºq� Å£�³T+� uó²eq 

 

  

win
Oval

win
Oval

win
Oval

win
Oval
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29. The social aims of education imply that 

1.  An individual can dream of his individual identity. 

2.  Individuals need not adhere to the democratic values of the 
society. 

3.   The state can aspire from the individual instead of giving. 

4.   The state has to give but not to take anything from the 
individual. 

ç¿ì+~ y��ýË $<�« jîTT¿£Ø kÍ+|�¾T¿£ �<ûÝXø«eTT\qT d�Öº+#áTq~ 

1. ÿ¿£ e«¿ìï Ôáq >·T]ï+|�Ú¿=sÁÅ£� �s�³|�&�e#áTÌ. 

2. e«Å£�ï\T d�eÖÈ+ýË� ç|�C²kÍÇeT« $\Te\Å£� �<�TÆ\T  

¿±qed�sÁ+ ýñ<�T. 

3. s�çw�¼eTT e«¿ìïqT+&� �¥+#áe#áTÌ ¿±� �eÇe\d¾q ned�sÁ+ ýñ<�T.  

4. s�çw�¼eTT, e«¿ìï¿ì �y�Ç*>±ú, � e«¿ìïqT+&� <û�� rd�T¿=Hû~>± 

�+&�Å£L&�<�T. 

  

win
Oval

win
Oval
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30.  Rigid system of state-education is justified on the basis that, the 
state, 

1.   is supreme to dictate what shall be taught and how shall be 
taught. 

2.   has absolute control over the lives, and destinies of its 
individual members. 

3.   Has a right and a bounded duty to mould the citizen to a 
pattern which makes for its own preservation and 
enhancement. 

4.   has better resources to manage education. 

s�çw�¼ $<�« jîTT¿£Ø <ó��&ó�e«ed��qT B� �<ó�sÁeTT>± d�eT]�kÍïsÁT. s�çw�¼eTHû~, 

1. @$T uË~ó+#�*?, mý² uË~ó+#�*? nHû n+Xæ\qT �¹sÝ¥+#áT³ýË  

s�çcÍ¼�<û ÔáT~ �sÁ�jáT+ 

2. <��jîTT¿£Ø d�uó�T«\ e«¿ìï>·Ôá J$Ô�\T eT]jáTT >·eÖ«\T  

�¹sÝ¥+#áT³ýË d�+|�PsÁ� �jáT+çÔáD ¿£\~. 

3. <�� jîTT¿£Ø |�]sÁ¿£�D eT]jáTT n_óe�~Æ ¿=sÁÅ£�, båsÁT� �]Ýw�¼eTT>±  

eT*#û V�²Å£�Ø eT]jáTT $<�T«¿£ï <ó�sÁ�+ ¿£\~. 

4. $<�«qT �sÁÇV¾²+#áT³Å£� mÅ£�Øe eqsÁT\T ¿£\~. 

  

win
Oval

win
Oval
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31. The hearing loss that occurs before acquisition of speech and 
language is known as  

1. congenital hearing loss 

2. acquired hearing loss 

3. pre-lingual hearing loss 

4. post-lingual hearing loss 

 uó²w� eT]jáTT uó²w�D+ n_óe�~Æ #î+<�¿£eTT+<�T @sÁÎ&û $�¿ì&� ýË|�eTT  

 1. ¿£H�CÉHîÕ³ýÙ $�¿ì&�ýË|�eTT 

 2. nÂ¿Õ ÇsY¦ $�¿ì&�ýË|�eTT 

 3. ç|Ó *+>·ÇýÙ $�¿ì&�ýË|�eTT 

 4. bþdt¼ *+>·ÇýÙ $�¿ì&�ýË|�eTT 

 

 

32. Non- verbal language includes  

1. Whistle language 

2. speech 

3. oral-language  

4. signs 

 nXæ_Æ¿£ uó²w� ¿£*Ð �q�$  

 1. $�ýÙ uó²w� 

 2. uó²w�D+ 

 3. eTòÏ¿£ uó²w� 

 4. ºV�ä�\T 

  

win
Oval

win
Oval

win
Oval

win
Oval
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33. The results of pure-tone Audiometry are recorded in the form of 
graph is called as 

1. Socio-gram 

2. Audio-gram 

3. Histogram 

4. Telegram 

 |�P«sY {ËH� �&�jîÖyîTç{¡ |��*Ô�\qT �$<ó�yîT®q ç>±|��Ú <�Çs� ]¿±sÁT¦ #ûkÍïsÁT  

 1. kþw¾jîÖ ç>±+ 

 2. �&�jîÖ ç>±+ 

 3. V¾²kþ¼ ç>±+ 

 4. fÉ*ç>±+ 

 

 

34. The people with this hearing loss are usually rely on lip-reading, 
gestures and other visual cues  

1. Mild hearing loss 

2. Moderate hearing loss 

3. Profound hearing loss 

4. Severe hearing loss 

 � sÁ¿£yîT®q $�¿ì&�ýË|�+ �q�y�sÁT kÍ<ó�sÁD+>± �|<�eÚ\ ¿£<�*¿£\qT  

#á<�e&�+, ¿=�� d�+Èã\T, ¿=�� <��Xø« >·TsÁTï\MT<� �<ó�sÁ|�&�Ô�sÁT 

 1. ÔáÅ£�Øe $�¿ì&� ýË|�eTT 

 2. $TÔáyîT®q $�¿ì&� ýË|�eTT 

 3. #�ý² rçeyîT®q $�¿ì&� ýË|�eTT 

 4. rçeyîT®q $�¿ì&� ýË|�eTT 

 

 

  

win
Oval

win
Oval

win
Oval

win
Oval
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35. The disease that affects the bony capsule of the inner ear is 

1. Otosclerosis  

2. Otitismedia 

3. Atresia 

4. Cholesteatoma 

 ýË|�* #î$ýË� nd¾ï >·T[¿£ MT<� ç|�uó²e+ #áÖ�| y�«~ó  

 1. �{ËdÓ¢ ØsÃd¾dt 

 2. �{ì{ìdt MT&�jáÖ 

 3. nç{²d¾jáT 

 4. ¿=ýÉkþ¼{ËeT 

 

 

36. Profound emotional and behaviroural disorder is 

1. Mental Retardation  

2. Hearing impairment 

3. Cerebral palsy 

4. Autism 

 ýËÔîÕq uó²yÃ<ûÇ>· eT]jáTT ç|�esÁïq sÁT>·�Ôá  

 1. eT+<��T~Æ 

 2. $�¿ì&� ýË|�eTT 

 3. eTd¾ïw�Ø |�¿£�y�ÔáeTT 

 4. �{ìÈy�T 

 

  

win
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37. Absence of external ear means 

1. External Otitis 

2. Atresia 

3. Ceremum 

4. Otosclerosis  

 yî\T|�* #î$ ýñ¿£ bþeÚ³qT �ý² n+{²sÁT  

 1. m¿£à³sYqýÙ �{ì{ìdt 

 2. nçfñd¾jáT 

 3. d¾]eTy�T 

 4. �{Ë�d¢ ØsÃd¾dt 

 

38. The sounds in Ling’s six sound test are  

 *+>´à �sÁT Xøu²Æ\ |�̄ ¿£�ýË� Xøu²Æ\T  

1. | a |, | u |, | p |, | s |, | l |, | m | 

2. | u |, | p |, | m |, | s |, | r |, | l | 

3. | a |, | i |, | u |, | s |, | sh |, | m | 

4. | m |, | a | , | i |, | s |, | l |, | s |  
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39. The stage in which the Physical and mental developments of an 
individual reaches their peak and maturity stage 

 1. Early Adolescence  

 2. Late Adolescence 

 3. Late childhood 

 4. Pre Adolescence 

 Xæ¯sÁ¿£, eÖqd¾¿£ �|sÁT>·T<�\\T |�Ô�¿£kÍ�sTT¿ì #ûsÁT¿=� |�]DÜbõ+~q <�XøqT 

�ý² n+{²sÁT 

 1. |�PsÁÇ ¿�eÖsÁ<�Xø 

 2. �ÔáïsÁ ¿�eÖsÁ<�Xø 

 3. �ÔáïsÁ u²\«<�Xø 

 4. jáTeÇH�sÁ+uó�<�Xø 

 
 

40. Sirisha is studying 8th class in a city she was forced to go to a village 
because of his father’s transfer. She got herself adjusted to the 
conditions of the village. This adjustment is   

 1. Regression  

 2. Repression  

 3. Compensation 

 4. Internalization 

 ¥¯w� ÿ¿£ q>·sÁ+ýË 8e ÔásÁ>·Ü #á<�TeÚÔáT+~. y�Þøß H�q�>±] �<Ã«>· �~© 

e\¢ ç>±eÖ�¿ì yîÞøße\d¾q|�Ú&�T n¿£Ø&� |�]d¾�ÔáT\Å£� s�J|�&� d�sÁTÝu²³T  

#ûd�T¿Ãe&�+ È]Ð+~. � d�sÁTÝu²³T ` 

 1. ç|�Ü>·eTq+ 

 2. <�eTq+ 

 3. |�]V�äsÁ+ 

 4. n+Ôá̄ ¢q+ 
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CONTENT 

 

41. The gravitational force between two objects is F. If the masses of 
both objects is halved without changing distance between them, then 
the gravitational force would be 

 Âs+&�T ed�TïeÚ\ eT<ó�« >·TsÁTÔ�Ç¿£sÁüD �\+ F. � Âs+&�T ed�TïeÚ\ eT<ó�«  

<�Ös��� eÖsÁÌÅ£�+&� ç<�e«s�Xø�\qT d�>±�¿ì ÔáÐZ+ºq, >·TsÁTÔ�Ç¿£sÁüD �\+ 

 1. F /4 

 2. F / 2 

 3. F 

 4. 2F 

 

42. An object is attracted by one pole of bar magnet and repelled by its 
other pole, then it is 

 1. magnet 

 2. magnetic substance 

 3. non metal 

 4. non magnetic substance 

 ÿ¿£ ed�TïeÚ njáTkÍØ+ÔáeTT jîTT¿£Ø ÿ¿£ <ó��eeTTÔÃ �¿£]ü+|��&� eTs=¿£  

<ó��eeTTÔÃ $¿£]ü+|��&�Ôû, n~ 

 1. njáTkÍØ+Ôá+ 

 2. njáTkÍØ+Ôá |�<�sÁ�+ 

 3. nýËV�²eTT 

 4. nqjáTkÍØ+Ôá |�<�sÁ�+ 
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43. For a body starting from rest, the displacement is directly 
proportional to square of time, then the body moves with 

 1. Uniform velocity 

 2. Uniform acceleration 

 3. increasing acceleration 

 4. decreasing acceleration 

 $s�eT kÍ�q+ qT+&� �jáT\T<û]q ÿ¿£ ed�TïeÚ kÍ�qçuó�+Xø+ ¿±\eTT jîTT¿£Ø  

esÁZeTTqÅ£� nqTýËeÖqTbÍÔá+ýË �+fñ, � ed�TïeÚ �ý² ç|�jáÖDìd�Tï+~. 

 1. d�eTyû>·+ÔÃ 

 2. d�eTÔáÇsÁD+ÔÃ 

 3. �|sÁT>·TÔáTq� ÔáÇsÁD+ÔÃ  

 4. Ôá>·TZÔáTq� ÔáÇsÁD+ÔÃ 

 

44. “Constriction” is present in the following thermometer 

 1. clinical  

 2. thermister  

 3. digital  

 4. laboratory  

 � ç¿ì+~ <ó�s��MT³sÁT »H=Å£�Øµ qT ¿£*Ð �+³T+~. 

 1. ¿ì¢�¿£ýÙ 

 2. <ó�]�w�¼sY 

 3. &��³ýÙ 

 4. ç|�jîÖ>·Xæ\ 
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45. If light ray falls normally onto a plane mirror, then the angle of 
incidence is 

 ¿±+Ü ¿ìsÁD+ d�eTÔá\ <�sÁÎD Ôáý²�¿ì \+�+>± |�Ôáq+ #î+~Ôû,  

|�Ôáq¿ÃD+ $\Te 

 1. 90° 

 2. 45° 

 3. 180° 

 4. 0° 

 

46. Choose the incorrect statement regarding magnetic lines of force. 

 1. Magnetic lines of force are three dimensional 

 2. Magnetic lines of force are curved lines 

 3. Magnetic lines of force are closed lines 

 4. Magnetic lines of force are open lines 

 njáTkÍØ+Ôá �\¹sK\ >·T]+º ç¿ì+~ y��ýË d�]¿±�~. 

 1. njáTkÍØ+Ôá �\¹sK\T çÜ$TrjáÖ\T 

 2. njáTkÍØ+Ôá �\¹sK\T eç¿£¹sK\T 

 3. njáTkÍØ+Ôá �\¹sK\T d�+e�Ô�\T 

 4. njáTkÍØ+Ôá �\¹sK\T $e�Ô�\T 
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47. 1 erg is equal to 

 1. 1 g cm2s-2 

 2. 1 g cm-2s-2 

 3. 1 g s2 cm-2  

 4. 1 g cm2s-1 

 ÿ¿£ msYZ nHû~ B�¿ì d�eÖq+ 

 1. 1 ç>± �d+.MT
2 
�d

`2 

 2. 1 ç>± �d+.MT
`2 

�d
`2 

 3. 1 ç>± �d
2
 �d+.MT

`2 

 4. 1 ç>± �d+.MT
2 
�d

`1 

 

48. The time period of satellite revolving around the earth near the 
earth’s surface depends only on radius of the earth. Then the relation 
between time period and radius will be (the distance of the orbit of 
satellite from the earth’s surface is neglected) 

 uó�Ö �|�]Ôáý²�¿ì <�>·ZsÁ>± uó�Ö$T #áT³Ö¼ |�]çuó�$T+#û �|�ç>·V�² �esÁïq ¿±\+ 

uó�Ö y�«kÍsÁ�+�|Õ eÖçÔáyûT �<ó�sÁ|�&�TqT nsTTq �esÁïq ¿±\eTTqÅ£� eT]jáTT

uó�Ö y�«kÍsÁ�eTTqÅ£� eT<ó�«>·\ d�+�+<ó�+ (uó�Ö�|�]Ôá\+qT+&� �|�ç>·V�²  

¿£¿£�«Å£� >·\ <�Ös��� $d��]+#á>±) 

 1. T α R  

 2. 2 3T  α R  

 3. 3 3T  α R  

 4. 3
2

1T  α 
R
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49. The increasing order of the ‘pitch of sound’ produced  

 1. adult women < lion < infant < insect 

 2. infant < insect < adult women < lion 

 3. lion < adult women < infact < insect 

 4. insect < infant < adult women < lion 

 ç¿ì+<� <ó�ÇqT\ jîTT¿£Ø |¾#Y, �sÃV�²D² ç¿£eT+ýË 

 1. eTV¾²Þø < d¾+V�²+ < ¥Xø�eÚ < ¿¡³¿£+
 

 2. ¥Xø�eÚ < ¿¡³¿£+ < eTV¾²Þø < d¾+V�²+
 

 3. d¾+V�²+ < eTV¾²Þø < ¥Xø�eÚ < ¿¡³¿£+
 

 4. ¿¡³¿£+ < ¥Xø�eÚ < eTV¾²Þø < d¾+V�²+
 

 

50. The body is moving with uniform acceleration along a straight line 
has an initial velocity u at a point. After traveling certain distance its 
velocity becomes ‘v’ at another point. Its velocity at the midpoint is  

 ÿ¿£ ed�TïeÚ d�eTÔáÇsÁD+ÔÃ d�sÁÞø¹sU² eÖsÁZ+ýË ç|�jáÖDìd�Öï, ÿ¿£ _+<�TeÚ  

e<�Ý »uµ Ô=*yû>±�� ¿£*Ð �+~. ¿=+Ôá <�ÖsÁ+ ç|�jáÖDì+ºq ÔásÁTy�Ôá eTs=¿£

_+<�T e<�Ý yû>·+ »vµ >± eÖ]+~. � Âs+&�T _+<�TeÚ\ eT<ó�«_+<�TeÚ e<�Ý  

ed�TïeÚ yû>·+ 

 1. 
2
uv  

 2. 
2

u v+  

 3. 
2 2

2
u v+  

 4. 
2 2

2
u v+  
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51. Two people push a car of mass 600 kg for 3 sec. with a combined 
net force of 200 N. Then change in velocity of car is 

 1. 0.5 m/sec. 

 2. 1 m/sec. 

 3. 9 m/sec. 

 4. 3 m/sec. 

 600 ¿ì.ç>± ç<�e«s�¥ >·\ ¿±sÁTqT �<�ÝsÁT e«Å£�ï\T 200N \ |��*Ôá �\+ÔÃ  

3 �d¿£q¢ bÍ³T Hî{ì¼q|�ð&�T, ¿±sÁT yû>·+ýË eºÌq eÖsÁTÎ 

 1. 0.5 MT/�d
 

 2. 1 MT/�d
 

 3. 9 MT/�d
 

 4. 3 MT/�d
 

 

52. The time taken by a body projected vertically upwards with a speed 
‘u’ to reach the ground is 

 ÿ¿£ ed�TïeÚqT »uµ Ô=*yû>·+ÔÃ �³¼�\TeÚ>± �|Õ¿ì $d¾]q, n~ uó�Ö$T�  

#ûsÁT³Å£� |�³T¼ ¿±ý+ 

 1. u
g

 

 2. 2u
g

 

 3. 
2u

g
 

 4. 
22u

g
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53. A ball of mass ‘m’, travelling with a velocity ‘v’. If the mass of the 
ball is halved and velocity is doubled, then its kinetic energy will be 

 1. remains same 

 2. doubled 

 3. becomes half 

 4. becomes 4 times 

 »mµ ç<�e«s�¥ >·\ �+Ü »vµ yû>·+ÔÃ ç|�jáÖDìd�Tï+~. � �+Ü ç<�e«s�¥�  

d�>±�¿ì ÔáÐZ+º, yû>±�� Âs+&�T Âs³T¢ �|+ºq|�ð&�T, <�� >·ÜÈXø¿ìï 

 1. mý²+{ì eÖsÁTÎ �+&�<�T
 

 2. Âs+&�T Âs³¢eÚÔáT+~
 

 3. d�>·eTòÔáT+~
 

 4. H�\T>·T Âs³¢eÚÔáT+~ 

 

54. The propagation of transverse wave in a medium involves change in 

 1. density of medium 

 2. pressure of medium 

 3. shape of medium 

 4. nature of medium 

 ÜsÁ«¿ù ÔásÁ+>·+ jáÖq¿£+ýË ç|�jáÖDìd�Tïq�|�ð&�T B�ýË eÖsÁTÎ ÈsÁT>·TqT 

 1. jáÖq¿£|�Ú kÍ+ç<�Ôá
 

 2. jáÖq¿£+ýË |Ó&�q+
 

 3. jáÖq¿£|�Ú �¿±sÁ+
 

 4. jáÖq¿£|�Ú d�Çuó²e+ 

  

win
Oval

win
Oval

win
Oval

win
Oval

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


55. When 30 g of water at 20° C is mixed with 20 g of water at 50° C, 
then the final temperature of the mixture is  

 20° C e<�Ý qTq� 30 ç>±eTT\ ú{ì� 50° C e<�Ý >·\ 20 ç>±eTT\ ú{ì¿ì  

¿£\T|�>± |��*Ôá �cþ�ç>·Ôá 

 1. 35° C 

 2. 30° C 

 3. 32° C 

 4. 36° C 

 

56. An object is placed infront of convex mirror of focal length ‘f’ at a 
distance ‘f’ metres, then the image formed at   

 1. infinity 

 2. ‘f’ m 

 3. 
2
f m  

 4. ‘2f’ m 

 »fµ H�uó²«+ÔásÁ+ >·\ Å£�+uó²¿±sÁ <�sÁÎD+ eTT+<�T »fµ MT³sÁ¢ <�ÖsÁ+ýË  

ed�TïeÚqT+ºq, ç|�Ü_+�+ �¿£Ø&� @sÁÎ&�TÔáT+~ 

 1. nq+Ôá <�ÖsÁ+ýË
 

 2. »fµ MT
 

 3. 
2
f

MT
 

 4. »2fµ MT 
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57. The light ray passing through optical centre of lens, after refraction 

 1. converges at F 

 2. diverges from F 

 3. parallel to principle axis  

 4. travels without deviation 

 ¿£³¿£ <��¿ù ¹¿+ç<�+ qT+&� ç|�jáÖDìd�Tïq� ¿±+Ü ¿ìsÁD+, eç¿¡uó�eq+ ÔásÁTy�Ôá 

 1. F e<�Ý n_ód�sÁDeTòÔáT+~
 

 2. F qT+&� n|�d�sÁDeTòÔáT+~
 

 3. ç|�<ó�H�¿�±�¿ì d�eÖ+ÔásÁ+>± yîÞø�ÔáT+~
 

 4. $#á\q+ #î+<�Å£�+&� ç|�jáÖDìd�Tï+~ 

 

58. Focal length of a plano-concave lens with radius of curvature ‘R’ 
and refractive index ‘n’ is  

 »Rµ eç¿£Ô� y�«kÍsÁ�+, »nµ eç¿¡uó�eq>·TD¿£+ >·\ d�eTÔá\ |�Ú{²¿±sÁ ¿£³¿£  

H�uó²«+ÔásÁ+ $\Te 

 1. 1n
R
-  

 2. 1 n
R
-  

 3. 
1

R
n -

 

 4. 
1

R
n-
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59. If a man losses his control over muscles because of electrical shock, 
then the amount of current passing through him is 

 $<�T«ÔYcÍ¿ù ÔáÐ*q e«¿ìï ¿£+&�s�\�|Õ Ôáq �jáT+çÔáD ¿ÃýËÎsTTq, nÔá�  

Xø̄ sÁ+ <�Çs� ç|�jáÖDìd�Tïq� $<�T«ÔY 

 1. 0.005 A 

 2. 0.010 A 

 3. 0.015 A 

 4. 0.070 A 

 

60. A conductor of length ‘l’ is moving with a speed of 20 m/sec. in the 
direction perpendicular to the direction of magnetic field of 
induction 0.9T. If it induces an emf of 9V between the ends of the 
conductor, then ‘l’ is 

 0.9T njáTkÍØ+Ôá n_óy�V�² kÍ+ç<�Ôá ¿£*Ðq ¹¿�çÔá ~XøÅ£� \+�+>± 20 MT/�d

yû>·+ÔÃ ¿£<�T\TÔáTq� »lµ bõ&�eÚ>·\ y�V�²¿£ ºesÁ\ eT<ó�« 9V $<�T«#�Ì\¿£  

�\+ ç�|¹s|¾+|��&�q, »lµ $\Te 

 1. 1 m 

 2. 0.5 m 

 3. 2 m 

 4. 4 m 
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61. Each side of a cube is measured to be 7.203 m. The volume of the 
cube upto appropriate significant figures is   

 ÿ¿£ d�eT|��TqeTT uó�TÈ+ bõ&�eÚ 7.203m. nsTTÔû � d�eT|��TqeTT jîTT¿£Ø  

|��Tq|�]eÖD+ ÔáÐq kÍsÁÆ¿£ d�+K«\ýË 

 1. 373.714 

 2. 373.71 

 3. 373.7 

 4. 373 

  

  

62. Velocity of an oblique projectile in its flight 

 1. remains constant 

 2. first decreases, become zero and then increases 

 3. first decreases, reaches a minimum and then increases 

 4. first increases, reaches maximum and decreases 

 ¿=+Ôá ¿ÃD+ÔÃ $d¾]q ç|�¹¿�|�¿£+ jîTT¿£Ø yû>·+ <�� >·eTq ¿±\+ýË 

 1. d¾�sÁ+>± �+³T+~ 

 2. Ô=\TÔá ÔáÐZ, XøSq«+ nsTT ÔásÁTy�Ôá �|sÁT>·TqT 

 3. Ô=\TÔá ÔáÐZ, ¿£�w�¼+ nsTT ÔásÁTy�Ôá �|sÁT>·TqT 

 4. Ô=\TÔá �|]Ð, >·]cÍ¼�� #û] ÔásÁTy�Ôá Ôá>·TZqT 

  

win
Oval

win
Oval

win
Oval

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


63. An inclined plane of length 3m is held at an angle 300 with the 
horizontal. A hollow sphere rolls from the top without slipping. The 
linear velocity of the center of mass with which it arrives to the 
ground is  

 3 m bõ&�eÚ >·\ y�\TÔá\+ ¿ì�ÜÈ d�eÖ+ÔásÁ+ÔÃ 30
0
 ¿ÃD+ #ûd�Tï+~. ÿ¿£  

uË\T >ÃÞø+ y�\TÔá\+ �|Õ qT+&� C²sÁÅ£�+&� <=sÁT¢ÔáT+~. nsTTÔû � >ÃÞø+  

uó�Ö$T� #ûsÁTq|�ð&�T <�� jîTT¿£Ø ç<�e«s�¥ ¹¿+ç<�+ jîTT¿£Ø ¹sFjáTyû>·+ 

 1. 1 m/s 

 2. 4.2 m/s 

 3. 2.4 m/s 

 4. 2.1 m/s 

  

64. According to Hook’s law of elasticity, if stress is increased, the ratio 
of stress to strain:   

 1. increased 

 2. decreased 

 3. becomes zero  

 4. remains constant 

 V�Q¿ù d¾�ÜkÍ�|�¿£ �jáTeT+ ç|�¿±sÁ+ ç|�Ü�\+qT �|+ºq ç|�Ü�\+ eT]jáTT  

$¿£�Ü\ �w�ÎÜï 

 1. �|sÁT>·TqT 

 2. Ôá>·TZqT 

 3. XøSq«+ neÚÔáT+~ 

 4. d¾�sÁ+>± �+&�TqT 
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65. Infinite number of masses each of 1kg are placed along a straight 
line at the distances of 1m, 2m, 4m, 8m,…. from a point ‘O’ on the 
same line. If G is the universal gravitational constant, the 
gravitational field intensity at ‘O’ is   

 ÿ¿=Ø¿£Ø{ì 1kg ç<�e«s�¥ >·\ nq+Ôá >ÃÞ²\qT ÿ¿£ d�sÁÞø ¹sK�|Õ »Oµ  

_+<�TeÚ qT+&� 1m, 2m, 4m, 8m, ..... <�ÖsÁeTT\ýË �+#á�&�q$.  

$XøÇ>·TsÁTÔáÇ d¾�s�+¿£+  G nsTTq »Oµ e<�Ý >·TsÁTÔáÇ ¹¿�çÔá rçeÔá 

 1. 4G
3  

 

 2. 3.0 G 

 3. 4.0 G  

 4. 3
4

G 

 

66. The condition under which the vectors ( )a b+
rr and ( )a b-

rr are parallel 

is 

 ( )a b+
rr

 
eT]jáTT ( )a b-

rr

 
d�~Xø\T d�eÖ+ÔásÁ+>± �+&�T³Å£� >·\ �jáTeT+  

 1. a b^
rr  

 2. a b=
rr  

 3. a b¹
rr  

 4. a b
rr
P  
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67. The ratio of lengths of two rods is 1:2 and the ratio of coefficient of 
expansions is 2:3. The first rod is heated through 600C. Find the 
temperature through which the second rod is to be heated so that its 
expansion is twice that of first is 

 Âs+&�T ¿£&�¦\ bõ&�eÚ\ �w�ÎÜï 1 : 2 eT]jáTT <îÕsÁé «y�«¿Ã#á >·TD¿±\ �w�ÎÜï  

2 : 3. yîTT<�{ì ¿£&�¦� 600C ¿ì yû&� #ûkÍsÁT. Âs+&�e ¿£&�¦� � �cþ�ç>·Ôá¿ì  

yû&�#ûd¾q <�� y�«¿Ã#á+ yîTT<�{ì <��¿ì Âs{ì¼+|�Ú �+&�TqT 

 1. 60 0C 

 2. 40 0C 

 3. 30 0C 

 4. 10 0C 

  

68. A horizontal pipe of non- uniform cross-section has water flow 
through it such that the velocity is 1m/s at a point where the pressure 
is 50kPa. The pressure at a point where the velocity of flow is 2m/s 
is 

 nd�eT¯Ü eT<ó�«#ûÌÛ<� yîÕXæ\«+ ¿£*Ðq ¿ì�ÜÈ d�eÖ+ÔásÁ >=³¼+ <�Çs� úsÁT 

ç|�eV¾²d�Tï+~. 50kPa  |Ó&�q+ >·\ _+<�TeÚ e<�Ý ç|�y�V�²yû>·+ 1m/s  nsTTq  

ç|�y�V�²yû>·+ 2m/s �q� _+<�TeÚ e<�Ý |Ó&�q+ 

 1. 1500 Pa 

 2. 51500 Pa 

 3. 48500 Pa 

 4. 3000 Pa 
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69. A block of mass M is pulled by a uniform chain of mass M tied to it. 
By applying a force of 80N at the other end of the chain, the tension 
at a point quarter of the length of the chain from free end will be 

 M ç<�e«s�¥ >·\ ~yîT�� M ç<�e«s�¥ >·\ @¿£̄ Ü >=\Td�TÔÃ ¿£{²¼sÁT.  

� >=\Td�T jîTT¿£Ø eTsÃ ºesÁ 80 N �ý²�� ç|�jîÖÐ+ºq �dÇ#�ÌÛºe] 

qT+&� >=\Td�T bõ&�eÚýË H�\Zee+ÔáT bõ&�eÚ e<�Ý Ôáq«Ô� �\+ 

 1. 35N 

 2. 70N 

 3. 40N 

 4. 80N 

 

70. A person sitting in a train moving with uniform velocity tossed a 
coin vertically up. The coin will fall 

 1. back into the hands of the person 

 2. behind the person  

 3. before the person 

 4. by the side of the person 

 d�eTyû>·+ÔÃ ç|�jáÖDìd�Tïq� ÿ¿£ ÂsÕ\TýË Å£LsÁTÌq� e«¿ìï ÿ¿£ H�DÉeTTqT �|Õ¿ì  

$d¾s�&�T. � H�DÉ+ �#áÌ³ |�&�TqT. 

 1. Ü]Ð e«¿ìï #ûÔáTýË¢Hû |�&�TqT 

 2. e«¿ìï¿ì yîqT¿£yîÕ|�Ú |�&�TqT 

 3. e«¿ìï¿ì eTT+<�TyîÕ|�Ú |�&�TqT 

 4. e«¿ìï¿ì ç|�¿£ØyîÕ|�Ú |�&�TqT 

80N 
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71. Five point charges (+q each) are placed at the five vertices of a 
regular hexagon of side 2a. What is the magnitude of the net electric 
field at the centre of the hexagon  

 ×<�T _+<�T �yûXæ\qT (ÿ¿=Ø¿£Ø{ì G q) 2a uó�TÈeTT ¿£*Ðq ÿ¿£ ç¿£eTw�&�TÒÛ�  

jîTT¿£Ø os�ü\ e<�Ý eÚ+ºq � w�&�TÒÛ� ¹¿+ç<�+ e<�Ý $<�T«ÔY ¹¿�çÔá rçeÔá 

 1. 2
0

1
4

q
ape

 

 2. 2
016

q
ape

 

 3. 2
0

2
4

q
ape

 

 4. 2
0

5
16

q
ape

 

  

72. The ratio of magnetic field at the centre of a current carrying coil of 
radius ‘a’ to the field at a distance ‘3a’ on its axis is  

 »aµ y�«kÍsÁ�+ >·\ $<�T«ÔY ç|�eV¾²d�Tïq� ÿ¿£ r>·#áT³¼ ¹¿+ç<�+ e<�Ý  

njáTkÍØ+Ôá ¹¿�çÔá rçeÔáÅ£�, <�� n¿£�+ MT<� »3aµ <�ÖsÁ+ýË njáTkÍØ+Ôá  

¹¿�çÔárçeÔáÅ£� >·\ �w�ÎÜï 

 1. 20 10  

 2. 2 10  

 3. 10 10  

 4. 10  
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73. A potential difference is applied across the ends of a metallic wire. If 
the potential difference is doubled, the drift velocity 

 1. will be doubled 

 2. will be halved 

 3. will be quadrupled 

 4. will remain unchanged 

 ÿ¿£ ýËV�²|�Ú r>· ¿=q\ eT<ó�« bõfÉ�üjáTýÙ uñ<ó��� nqTe]ï+|�#ûd¾H�sÁT. �  

bõfÉ�üjáTýÙ uóñ<��� Âs{ì¼+|�Ú #ûd¾q ç&�|t¼ yû>·+ 

 1. Âs{ì¼+|�Ú neÚÔáT+~ 

 2. d�>·+ neÚÔáT+~ 

 3. H�\T>·T Âs³T¢ neÚÔáT+~ 

 4. eÖsÁTÎ �+&�<�T 

 

74. The far-point of a short-sighted eye is 200cm. The power of the lens 
is: 

 çV�²d�Ç <��w¾¼ �q� ÿ¿£ ¿£qT� jîTT¿£Ø <�ÖsÁ _+<�TeÚ 200 cm nsTTq ¿£³¿£+  

jîTT¿£Ø kÍeTsÁ�«+ 

 1. -0.5 D 

 2. 2 D 

 3. 1 D 

 4. -1.5 D 

  

  

  

win
Oval

win
Oval

win
Oval

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


75. The correct statement regarding p-type silicon among the following 
is 

 1. electrons are majority charge carriers and trivalent atoms are 
the dopants 

 2. electrons are minority charge carriers and pentavalent atoms 
are the dopants 

 3. holes are minority charge carriers and pentavalent atoms are 
the dopants 

 4. holes are majority charge carriers and trivalent atoms are the 
dopants 

 p`sÁ¿£|�Ú d¾*¿±H�Å£� d�+�+~ó+º � ç¿ì+~ y��ýË d�]jî®Tq~ 

 1. m\ç¿±¼qT\T n~ó¿£ d�+U²«¿£ y�V�²¿±\T eT]jáTT çÜ d�+jîÖÈ¿£  

|�sÁeÖDTeÚ\T eÖ*H�«\T 

 2. m\ç¿±¼qT\T n\Î d�+U²«¿£ y�V�²¿±\T eT]jáTT |�+#á d�+jîÖÈ¿£  

|�sÁeÖDTeÚ\T eÖ*H�«\T 

 3. sÁ+ç<¸�\T n\Î d�+U²«¿£ y�V�²¿±\T eT]jáTT |�+#á d�+jîÖÈ¿£  

|�sÁeÖDTeÚ\T eÖ*H�«\T 

 4. sÁ+ç<¸�\T n~ó¿£ d�+U²«¿£ y�V�²¿±\T eT]jáTT çÜ d�+jîÖÈ¿£  

|�sÁeÖDTeÚ\T eÖ*H�«\T 
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76. A copper wire is held at two ends by rigid supports. At 40oC, the 
wire is just taught with negligible tension. The speed of transverse 
wave in the wire at 100C is (Given 67 10

o
Ca -= ´ ,  

Y=2.1x1011 N/m2, density= 9000 kg/m3) 

 ÿ¿£ s�Ð r>· Âs+&�T ºesÁ\T d¾�sÁyîT®q �<ó�s�\Å£� _Ð+#á�&�q$. 40
0C e<�Ý  

� r>·ýË nÜ ÔáÅ£�Øe Ôáq«Ôá �q�~. nsTTÔû 10
0C e<�Ý � r>·ýË ÜsÁ«¿ù  

ÔásÁ+>· e&� 

(�#áÌ³ 67 10
o
Ca -= ´ , Y=2.1x1011 N/m2 kÍ+ç<�Ôá R 9000 kg/m3

) 

 1. 491 m/s 

 2. 70 m/s 

 3. 700 m/s 

 4. 49.1 m/s 

  

77. In an LCR series circuit, R=10Ω and the impedance Z= 20Ω. Then 
the phase difference between the current and the voltage is 

 LCR çXâDì e\jáT+ýË �sÃ<ó�eTT  R = 10Ω eT]jáTT nesÃ<ó�+ Z = 20Ω 

nsTTq $<�T«ÔY ç|�y�V�²eTTqÅ£�, zýñ¼�¿ì eT<ó�« >·\ <�Xæuóñ<�+ 

 1. 600 

 2. 300 

 3. 450 

 4. 900 
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78. A meter bridge is balanced with known resistance in the right gap 
and a metal wire in the left gap. If the metal wire is heated the 
balance point 

 1. shifts towards left 

 2. shifts towards right 

 3. does not change 

 4. may shift towards left or right depending on the nature of the 
metal 

 ÿ¿£ MT³sÁT ç_&�̈ jîTT¿£Ø Å£�&� U²°ýË Ôî*d¾q �sÃ<ó�eTT, m&�eT U²°ýË  

ýËV�²|�Ú r>· �q�|�Ú&�T d�+ÔáT\q+ #î+~q~. ýËV�²|�Ú r>·qT yû&�#ûd¾q <��  

d�+ÔáT\q _+<�TeÚ 

 1. m&�eT yîÕ|�ÚqÅ£� ÈsÁT>·TqT 

 2. Å£�&� yîÕ|�ÚqÅ£� ÈsÁT>·TqT 

 3. eÖsÁTÎ �+&�<�T 

 4. ýËV�² d�Çuó²eeTTqT �{ì¼ m&�eT ýñ<� Å£�&� yîÕ|�ÚÅ£� ÈsÁT>·TqT 

 

79. When the energy of an incident photon is increased by 20%, the 
kinetic energy of the photo electrons is increased from 1eV to 1.5eV. 
The work function of the metal is 

 |�Ôáq b�þ{²H� jîTT¿£Ø Xø¿ìï 20% �|]Ðq, b�þ{Ë m\ç¿±¼H�\ jîTT¿£Ø >·ÜÈXø¿ìï  

1eV qT+&� 1.5eV \Å£� �|]Ðq~. nsTTq � ýËV�² |�� ç|�yûTjáT+ 

 1. 2.5eV 

 2. 1eV 

 3. 0.5eV 

 4. 1.5eV 
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80. If the shortest wavelength in the Lyman series is 911.6A0, the 
longest wavelength in the same series will be 

 1. 1600 A0 

 2. 2430 A0 

 3. 1215 A0 

 4. Infinity 

 ýÉÕeTH� çXâDìýË� ¿£�w�¼ ÔásÁ+>· <îÕsÁé«+ 911.6A0 
nsTTÔû � çXâDìýË� >·]w�÷  

ÔásÁ+>· <îÕsÁé «+ 

 1. 1600 A0
 

 2. 2430 A0
 

 3. 1215 A0
 

 4. nq+Ôá+ 

 

81. Mixture of chloroform (bp 61°C) and aniline (bp 184°C) is easily 
separated by 

 1. Separating funnel  

 2. Evaporation 

 3. Distillation 

 4. Fractional distillation 

 ¿Ã¢sÃb�Í+ (bp 61°C) eT]jáTT n�©H� (bp 184°C) \ $TçXøeÖ��  

d�T\TeÚ>± yûsÁT#ûjáT&��¿ì y�&û |�<�ÆÜ  

 1. yûs�Î³T>·s�³T 

 2. �>·TsÁT³ 

 3. �dÇ<�qeTT 

 4. n+¥¿£�dÇ<�q+ 
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82. Rate of diffusion of methane is 24 cm3/min then the rate of diffusion 
of sulphurdioxide is  

 MT<û̧H� jîTT¿£Ø y�«|�q¹s³T 24 cm3/min nsTTq d�\ÎÛsY &îÕ �Â¿Õà&� y�«|�q¹s³T 

 1. 12 cm3/min  

 2. 48 cm3/min 

 3. 12 2 cm3/min 

 4. 6 cm3/min 

 

83. One of the following is prepared by polymerisation of 
hexamethylene diamine with Adipic acid 

 1. Nylon 6, 6 

 2. Nylon 6 

 3. Terylene 

 4. Bakelite 

 �V²>±¨$T~¸*H� &îÕ nMTH�qT n&�|¾¿ù �eT¢eTTÔÃ bõ*yîT¯¿£sÁDeTT #ûd¾q|�Ú&�T  

ç¿ì+~ y��ýË ÿ¿£{ì @sÁÎ&�TqT. 

 1. HîÕý²H� 6, 6 

 2. HîÕý²H� 6 

 3. fÉ]¢H� 

 4. uñ¿£ýÉÕ{Ù 
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84. The metal that can displace Zinc from Zinc oxide is 

 1. Copper 

 2. Magnesium 

 3. Iron 

 4. Silver 

 �+¿ù �Â¿Õ à&� qT+&� �+¿ùqT kÍ�qçuó�+Xø+ #î+~+#á>·\ ýËV�²+  

 1. ¿±|�sY 

 2. yîT^�w¾jáT+ 

 3. �qTeTT 

 4. yî+&� 

 

85. This is not possible in blue zone of candle flame 

 1. It is high luminous zone 

 2. Temperature is high 

 3. Oxygen supply is more 

 4. Complete combustion takes place 

 ç¿=y=ÇÜï eT+³ jîTT¿£Ø ú*çbÍ+Ôá+ýË ne¿±Xø+ ýñ� n+Xø+  

 1. �~ nÔá«+Ôá ç|�¿±Xøe+Ôá+>± �+³T+~. 

 2. n~ó¿£ �cþ�ç>·Ôá ¿£*Ð �+³T+~. 

 3. �¿ìàÈH� u²>± n+<�TÔáT+~. 

 4. <�V�²q#ásÁ« d�+|�PsÁ�+>± ÈsÁT>·TÔáT+~. 
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86. The quantum number of two electrons in K shell differ in 

 1. The principal quantum number 

 2. The angular momentum quantum number 

 3. The magnetic quantum number 

 4. Spin quantum number 

 K ` ¿£¿£�«ýË �q� Âs+&�T m\ç¿±¼q¢Å£� � ¿±Ç+³+ d�+K« yûsÁT>± �+³T+~.  

 1. ç|�<ó�q ¿±Ç+³+ d�+K« 

 2. ¿ÃD¡jáT ç<�e«yû>· ¿±Ç+³+ d�+K« 

 3. njáTkÍØ+Ôá ¿±Ç+³+ d�+K« 

 4. d¾ÎH� ¿±Ç+³+ d�+K« 

 

87. The subshells gradually filled in 5th period of modern periodic table 
are 

 qMq �esÁïq |�{ì¼¿£ýË 5e |Ó]jáT&�ýË esÁTd�>± �+&û �|�¿£¿£�«\T 

 1. 5s, 4f, 5p 

 2. 5s, 4d, 4f, 5p 

 3. 5s, 3d, 4f, 5p 

 4. 5s, 4d, 5p 

  

88. Number of bond pairs and lone pairs of electrons in XeF4 
respectively 

 XeF4 ýË �+<ó� eT]jáTT ÿ+³] m\ç¿±¼H� È+³\ d�+K«\T esÁTd�>± 

 1. 4, 2 

 2. 5, 1 

 3. 6, 0 

 4. 3, 3 
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89. This change takes place during tarnishing of silver 

 1. Ag+ changes to Ag 

 2. Ag¯ changes to Ag 

 3. Ag changes to Ag+ 

 4. Ag+ changes to Ag+2 

 yî+&� ¿£�jáT+ #î+<�&�+ýË È]¹> eÖsÁTÎ  

 1. Ag+ 
,Ag >± eÖsÁTqT 

 2. Ag¯, Ag >± eÖsÁTqT 

 3. Ag, Ag+ 
>± eÖsÁTqT 

 4. Ag+, Ag+2 
>± eÖsÁTqT 

 

90. Compound ‘A’ (blue in colour) is heated strongly over a Bunsen 
burner, then a substance ‘B’ is eliminated and a white powder is left 
behind. A & B are respectively. 

 ‘A’ nqT d�yûT�ÞøqeTT (ú*sÁ+>·T)qT �TH��dH� C²Ç\¿£+ �|Õ u²>± yû&�#ûd¾q  

‘B’ nHû |�<�sÁ�eTT eT]jáTT Ôî\¢� bõ&� e+{ì |�<�sÁ�eTT @sÁÎ&�TqT. nsTTq  

‘A’ eT]jáTT ‘B’ esÁTd�>± 

 1. CaSO4,  H2O 

 2. CuSO4,  H2O 

 3. CuSO4 5H2O,  H2O 

 4. CuSO4 5H2O,  O2 
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91. The number of Oxygen molecules in 160g. of oxygen gas 

 160 ç>±. �¿ìàÈH� y�jáTTeÚýË �q� �¿ìàÈH� nDTeÚ\ d�+K« 

 1. 3.011 ´ 1023 

 2. 3.011 ´ 1024 

 3. 6.022 ´ 1024 

 4. 6.022 ´ 1022 

  

92. In the electrolysis of blister copper, the anode mud does not contain 

 _¢d�¼sY ¿±|�sY jîTT¿£Ø $<�T«~ÇXâ¢w�DýË @sÁÎ&�q �HÃ&�eT&� � eTÖ\¿±�� ¿£*Ð

�+&�<�T.  

 1. Au 

 2. Ag 

 3. Zn 

 4. Se 

 

93. The products formed in thermal decomposition of lead nitrate are  

 ýÉ&�HîÕçfñ{Ù jîTT¿£Ø �wÓ�jáT $|��T³q #ásÁ«ýË @sÁÎ&û �ÔáÎH��\T. 

 1. PbO, NO2, O2 

 2. PbO2, NO2, O2 

 3. PbNO2, N2O3, O2 

 4. PbO, N2O3 
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94. Ethanol undergoes dehydration by heating it to form ethene in 
presence of 

 1. Conc. H2SO4, at 170 K 

 2. Conc. H2SO4, at 443 K 

 3. Conc. HNO3, at 443 K 

 4. Conc. HNO3, at 170 K 

 �<�̧HÃýÙqT yû&�#ûjáT&�+ <�Çs� �sÁ̈©¿£sÁD #ásÁ«È]Ð �B¸H�qT @sÁÎ¹sÌ #ásÁ«  

M{ì d�eT¿£�+ýË ÈsÁT>·TÔáT+~.  

 1. >±&ó� H2SO4, 170 K e<�Ý 

 2. >±&ó�  H2SO4, 443 K e<�Ý 

 3. >±&ó�  HNO3, 443 K e<�Ý 

 4. >±&ó�  HNO3, 170 K e<�Ý 

 

95. IUPAC name of 
3 2 2

2

| |
CH CH CH CH CH CHO

NH Br

- - - - -
 

 1. 3 – amino – 2 – bromo hexan – 1 – al 

 2. 2 – bromo – 3 – amino hexane – 1 – al 

 3. 4 – amino – 2 – bromo hexane – 1 – al 

 4. 1 – amino – 2 – bromo hexane – 3 – al 

 
3 2 2

2

| |
CH CH CH CH CH CHO

NH Br

- - - - -
 jîTT¿£Ø IUPAC �|sÁT  

 1. 3 ` n$THÃ ` 2 ` çuËyîÖ �V²¹¿àH� ` 1 ` �ýÙ 

 2. 2 ` çuËyîÖ ` 3 ` n$THÃ �V²¹¿àH� ` 1 ` �ýÙ 

 3. 4 ` n$THÃ ` 2 ` çuËyîÖ �V²¹¿àH� ` 1 ` �ýÙ 

 4. 1 ` n$THÃ ` 2 ` çuËyîÖ �V²¹¿àH� ` 3 ` �ýÙ 
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96. The two elements X and Y have the following configurations  
X : 1s22s22p63s23p64s2    Y : 1s22s22p63s23p5.  
The molecular formula of the compound formed by the combination 
of X and Y will be 

 X, Y \ m\ç¿±¼H� $H�«kÍ\T esÁTd�>±  

X : 1s22s22p63s23p64s2    Y : 1s22s22p63s23p5. 
nsTTq  X, Y \ÔÃ @sÁÎ&û d�yûT�Þøq+ jîTT¿£Ø nDTb�ÍsÁT�ý² : 

 1. XY5 

 2. X2Y5 

 3. XY2 

 4. X5Y2 

  

97. Correct order of penetration power of orbitals in 4th shell is 

 4e ¿£¿£�«ýË� �]Ò{²Þøß #=#áTÌÅ£�bþjûT d�Çuó²y�\ d�ÂsÕq ç¿£eT+ 

 1. 4f > 4d > 4p > 4s 

 2. 4f > 4p > 4d > 4s 

 3. 4s > 4d > 4p > 4f 

 4. 4s > 4p > 4d > 4f  

 
  

win
Oval

win
Oval

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


98. Ionic bond formation is favoured by 

 1. High ionization energy of cation 

 2. Large size of anion 

 3. Large size of cation 

 4. Difference in electronegativity between the atoms should be  
less than 1.9 

 njáÖ�¿£ �+<ó�+ @sÁÎ&�&�+ýË nqTÅ£L\ n+Xø+  

 1. ¿±³jáÖH�Å£� n~ó¿£ njáTú¿£sÁD Xø¿ìï �+&�&�+ 

 2. �qjáÖH� |�]eÖDeTT mÅ£�Øe>± �+&�&�+ 

 3. ¿±³jáÖH� |�]eÖDeTT mÅ£�Øe>± �+&�&�+ 

 4. Âs+&�T |�sÁeÖDeÚ\ eT<ó�« �TTD$<�T«<�Ôá�¿£ÔáýË¢ Ôû&� Ôá|�Î¿£ 1.9  

¿£H�� ÔáÅ£�Øe �+&�&�+ 

 

99. The maximum and minimum values of angular momentum quantum 
number are (n = principle quantum number) 

 ¿ÃD¡jáT ç<�e«yû>· ¿±Ç+³+ d�+K« jîTT¿£Ø >·]w�¼, ¿£�w�¼ $\Te\T esÁTd�>±  

( n R ç|�<ó�q ¿±Ç+³+ d�+K«)  

 1. n, 1 

 2. n, 0 

 3. 0, n –1 

 4. n – 1, 0 
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100. The salt whose aqueous solution will have no effect on red or blue 
litmus is 

 � \eD+ jîTT¿£Ø È\ç<�eD+ msÁT|�Ú ýñ<� ú* *³�dt �|Õ ç|�uó²e+ #áÖ|�<�T. 

 1. Na2CO3  

 2. K2SO4 

 3. (NH4)2 SO4 

 4. CH3COONa 

 

101. The first emission line of hydrogen atomic spectrum in the Balmer 
series appears at (R = Rydberg constant) 

 1. 15
36
R cm-  

 2. 13
4
R cm-  

 3. 17
144

R cm-  

 4. 19
400

R cm-  

 �VÕ²ç&ÃÈH� esÁ�|�³+ jîTT¿£Ø u²eTsY çXâDìýË yîTT<�{ì ¹sK ÔásÁ+>·<îÕsÁé«+  

(R R ]&��sYZ d¾�s�+¿£+) 

 1.  
5
36
R  �d+.MT

`1
  

 2. 
3
4
R  �d+.MT

`1
 

 

 3. 
7
144

R  �d+.MT
`1
 
 

 4. 
9
400

R  �d+.MT
`1
  

  

win
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102. Correct increasing order of size in the following. 

 ç¿ì+~ y�{ìýË |�]eÖDeTT �|]¹> ç¿£eTeTT 

 1. 2Mg Na F Al+ + -< < <  

 2. 2F Al Na Mg- + +< < <  

 3. Al Mg F Na- +< < <  

 4. 2Na Al F Mg+ - +< < <  
 

103. CO2 is isostructural with 

 CO2 ÔÃ d�eT�s��D+ ¿£\ nDTeÚ 

 1. SnCl2 

 2. HgCl2 

 3. H2O 

 4. SCl2 

 

104. A closed vessel contain equal number of nitrogen and oxygen 
molecules at a pressure of Pmm. If nitrogen is removed from the 
system then the pressure will be 

 Pmm |Ó&�q+qT ¿£*Ðq eTÖd¾ �q� bÍçÔáýË d�eÖq d�+K«ýË HîÕç{ËÈH�  

eT]jáTT �¿ìàÈH� |�sÁeÖDTeÚ\TH��sTT. nsTTq bÍçÔáýË� HîÕç{ËÈH�qT  

Ô=\Ð+ºq, e«ed�ï |Ó&�qeTT 

 1. P 

 2. 2P 

 3. P/2 

 4. P2 

win
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Oval

win
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105. In the reaction 2 3 2Cl OH Cl ClO H O- - -+ ® + +  

 1. Chlorine is oxidised 

 2. Chlorine is reduced 

 3. Chlorine is oxidized as well as reduced 

 4. Chlorine is neither oxidised nor reduced 

 2 3 2Cl OH Cl ClO H O- - -+ ® + +  nqT #ásÁ«ýË 

 1. ¿Ã¢]H� �¿¡à¿£sÁD+ #î+<�TqT 

 2. ¿Ã¢]H� ¿£�jáT¿£sÁD+ #î+<�TqT 

 3. ¿Ã¢]H� �¿¡à¿£sÁD+ eT]jáTT ¿£�jáT¿£sÁD+ #î+<�TqT 

 4. ¿Ã¢]H� �¿¡à¿£sÁD+ ¿±� ¿£�jáT¿£sÁD+ ¿±� #î+<�<�T 

 

106. The oxide that gives H2O2 on treatment with a dilute acid is 

 � �Â¿íà&�qT d�È\ �eT¢+ÔÃ #ásÁ«H=+~+ºq H2O2  @sÁÎ&�TqT. 

 1. PbO2 

 2. MnO2 

 3. BaO28H2O 

 4. TiO2 

  

107. The ion having maximum value of hydration enthalpy is 

 nÔá«~ó¿£ �VÕ²ç&ûw�H� m+<̧�*Î ¿£\ njáÖH� 

 1. Li+ 

 2. Na+ 

 3. K+ 

 4. Cs+
 

 

win
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win
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win
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win
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108. Property of alkaline earth metals that increases with their atomic 
number is  

 1. Ionisation energy 

 2. Solubility of their hydroxides 

 3. Solubility of their sulphates 

 4. Electronegativity 

 ¿�±sÁeT�Üï¿£ ýËV�ä\ |�sÁeÖDT d�+K«ýË �|sÁT>·T<�\ÔÃbÍ³T �|]¹> <ó�sÁ�+ 

 1. njáTú¿£sÁD Xø¿ìï 

 2. �VÕ²ç&�Â¿àí&�\ ç<�eD¡jáTÔá 

 3. d�ýñÎÛ{Ù\ ç<�eD¡jáTÔá 

 4. �TTD$<�T«<�Ôá�¿£Ôá 

  

109. 
( ) ( )
( ) ( )

4 2
3

2

CH g H O g
Qc

CO g H g

é ù é ùë û ë û=
é ù é ùë û ë û

 

 In the above equation Qc indicates 

 1. Equilibrium constant  

 2. Reaction quotient 

 3. Boltzmann constant 

 4. Arrhenius constant 

 
( ) ( )
( ) ( )

4 2
3

2

CH g H O g
Qc

CO g H g

é ù é ùë û ë û=
é ù é ùë û ë û

 nqT d�MT¿£sÁD+ýË  Qc d�Öº+#áTq~ 

 1. d�eTÔ�d¾�s�+¿£eTT 

 2. #ás�« uó²>·|��\ d¾�s�+¿£+ 

 3. uËýÙ¼CÙeTH� d¾�s�+¿£+ 

 4. n ½̄�jáTdt d¾�s�+¿£+ 

win
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win
Oval

win
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win
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110. Water gas among the following is 

 1. CO(g) + N2(g) 

 2. CO(g) + H2(g) 

 3. H2O(Steam) + N2(g) 

 4. SO3(g) + SO2(g) 

 � ç¿ì+~ y��ýË y�³sY >±«dt  

 1. CO(y�) + N2(y�) 

 2. CO(y�) + H2(y�) 

 3. H2O(ú{ì �$]) + N2(y�) 

 4. SO3(y�) + SO2(y�) 

 

111. 100 ml of 0.015M HCl solution is mixed with 100 ml of 0.005M 
HCl. The pH of the resultant solution is 

 100 $T.©\ 0.015M HCl  ç<�eD²�¿ì 100 $T.©. 0.005 M HCl 

ç<�eD²�� ¿£\T|�>± @sÁÎ&�¦ ç<�eD|�Ú pH 

 1. 2.5 

 2. 1.5 

 3. 2.0 

 4. 1.0  

 

112. Schottky defect is found in 

 cÍ{¡Ø ýË|�+ ç|�<�]ô+#û |�<�sÁ�+ 

 1. AgI 

 2. NaCl 

 3. ZnS 

 4. ZnO 
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113. Given  A+ / A → + 0.34V ;   B+ / B → – 1.66 V  
  C+ / C → + 0.76V ;   D+ / D → – 0.28 V  

 The most reactive metal which displaces other metals from their salt 
solution is 

 � ç¿ì+<� �eÇ�&�q #ásÁ«\ýË y�{ì jîTT¿£Ø \eD ç<�eDeTT\ qT+&� @  

ýËV�²eTT ÔáÇsÁ>± #ásÁ« È]|¾ �ÔásÁ ýËV�ä\qT �¿ì�|�ï+ #ûjáTTqT? 

   A+ / A → + 0.34V ;   B+ / B → – 1.66 V  
  C+ / C → + 0.76V ;   D+ / D → – 0.28 V 

 1. C 

 2. D 

 3. B 

 4. A 

 

 

114. If we plot a graph between log k and 1/T by Arrhenius equation. The 
slope is 

 n ½̄�jáTdt d�MT¿£sÁD+ ç|�¿±sÁ+  log k eT]jáTT 1/T Å£� >·\ d�+�+<ó���  

¹sU²|�³+ ^d¾q|�Ú&�T y�\T #áÖ|�Úq~. 

 1. Ea
R

-  

 2. Ea
R

+  

 3. 
2.303

Ea
R

-  

 4. 
2.303

Ea
R

+  
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115. One mole of calcium phosphide on reaction with excess water gives 

 1. One mole of phosphine 

 2. Two moles of phosphoric acid 

 3. Two moles of phosphine  

 4. One mole of P2O5 

 ÿ¿£ yîÖýÙ ¿±*üjáT+ b�Í�dÕ ÎÛ&� mÅ£�Øe ú{ìÔÃ #ásÁ« ÈsÁT|�>± @sÁÎ&�Tq~ 

 1. ÿ¿£ yîÖýÙ b�ÍdÓÎÛH� 

 2. Âs+&�T yîÖýÙ\ b�ÍkÍÎÛ]¿ù �eT¢+ 

 3. Âs+&�T yîÖýÙ\ b�ÍdÓÎÛH�  

 4. ÿ¿£ yîÖýÙ P2O5 

 

116. There is no S – S bond in 

 S – S �+<ó�+ ýñ�~ 

 1. S2O4
2- 

 2. S4O6
2- 

 3. S2O3
2- 

 4. S2O7
2- 

 

117. The product obtained when nitrobenzene is reacted with HCl in the 
presence of Sn is 

 HîÕç{¤uÉ+JH�qT HClÔÃ Sn d�eT¿£�+ýË #ásÁ«>±$+ºq|�Ú&�T @sÁÎ&�T ç¿ìjáÖÈq«+ 

 1. C6H5N = NC6H5 

 2. C6H5NH2 

 3. C6H5NH – NHC6H5 

 4. C6H5NHOH 

win
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win
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118. One of the following compounds react with saturated solution of 
sodium bisulphite to give colourless crystalline product 

 d�+Ôá�|�ï kþ&�jáT+ uÉÕd�ýÉÕ ÎÛÛ{Ù ç<�eD+ÔÃ #ásÁ«H=+~ sÁ+>·Týñ� d�ÎÛ{ì¿£  

ç¿ìjáÖÈq«eTTqT @sÁÎsÁ#áT d�+jîÖ>· |�<�sÁ�eTT 

 1. C2H5OH 

 2. C2H6 

 3. CH3CHO 

 4. CHCl3 

  

119. Williamson’s synthesis is used for preparing 

 1. Alcohols 

 2. Ketones 

 3. Ethers 

 4. Aldehydes 

 $*jáTy�Td�H�à d�+Xâ¢w�DeTTqT � ç¿ì+~ y��ýË ÿ¿£<��� ÔájáÖsÁT#ûjáTT³Å£� 

�|�jîÖÐ+ÔáTsÁT. 

 1. �\ØV�ä\T 

 2. ¿¡{ËH�\T 

 3. �<�̧sY\T 

 4. �*¦�VÕ²&�\T 

  

win
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win
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120. In the following reaction ‘X’ and ‘Y’ respectively are 

( )3 3 2
' '' ' aq NaOH Y

solutionX CH COOH CH CO O¾¾¾¾¾® ¾¾®  

 ç¿ì+~ #ásÁ«ýË ‘X’ eT]jáTT ‘Y’ \T esÁTd�>± 

( )3 3 2
' '' ' aq NaOH YX CH COOH CH CO O¾¾¾¾¾® ¾¾®

È\ç<�eD+
 

 1. CH3CHO, PCl5 

 2. CH3CN, P2O5 

 3. CH3CH2OH, CH3COONa 

 4. CH3COCH3, H2SO4 

  

  

win
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METHODOLOGY 

 

121. The synthetic method of teaching Physical Science is - it 

 1. brings together different scientific ideas to form an unique 
idea 

 2. brings a unique idea into different ideas 

 3. speaks about all the subject concepts 

 4. explains how to conduct a laboratory experiment 

 $C²ãqXæg uË<ó�qýË d�+Xâ¢w�D |�<�ÆÜ¿ì #î+~q n+XøeTT 

 1. $$<ó� $C²ãqXæg uó²eq\qT ç¿Ã&�¿£]+º ÿ¹¿ ÿ¿£ uó²eqqT  

¿£*Ðd�Tï+~ 

 2. ÿ¹¿ ÿ¿£ $C²ãqXæg uó²eqqT $$<ó� uó²eq\T>± $uó��d�Tï+~ 

 3. $$<ó� $w�jáT uó²eq\ >·T]+º Ôî\T|�ÚÔáT+~ 

 4. ç|�jîÖ>·Xæ\ýË ç|�jîÖ>·+ #ûjáTT³ >·T]+º $e]d�Tï+~ 

122. As per substantive structure of Science, the theoretical knowledge in 
science speaks about 

 1. Experimental Observations 

 2. Concepts 

 3. Processes 

 4. Attitudes 

 $C²ãqXæg+ýË ç<�y�«Ôá�¿£ �s��D²q�qTd�]+º d¾<�Ý+Ôá |�]C²ãq+ nHû~ B�  

>·T]+º Ôî\T|�ÚÔáT+~ 

 1. ç|�jîÖ>· |�]o\q\T 

 2. uó²eq\T 

 3. ç|�ç¿ìjáT\T 

 4. yîÕKsÁT\T 
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123. One of the following is an integrated process skill 

 1. Communicating 

 2. Inferring  

 3. Predicting 

 4. Experimenting 

 ç¿ì+~ y��ýË d�eT¿±©q ç|�ç¿ìjáÖ HîÕ|�ÚD«+ 

 1. uó²eç|�kÍsÁeTT 

 2. �s�Æ]+#á&�+ 

 3. çbÍ>·T¿¡ï¿£]+#á&�+ 

 4. ç|�jîÖ>·eTT #ûjáT&�+ 

 

124. The following Veda speaks about ‘healing powers of medicinal 
herbs’ 

 1. Sama Veda 

 2. Adharvana Veda 

 3. Rig Veda 

 4. Yajur Veda 

 ¿=�� »»yîÕ<�«|�sÁyîT®q yîTT¿£Ø\ sÃ>· �sÃ<ó�¿£ Xø¿ìïµµ >·T]+º � ç¿ì+~ yû<�+  

Ôî\T|�ÚÔáT+~ 

 1. kÍeTyû<� 

 2. n<ó�sÁÇD yû<� 

 3. �TT¹>Ç<� 

 4. jáTE¹sÇ<� 
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125. The following subject was introduced in 1837 at Rugby under  
Dr. Arnold, for the first time. 

 1. Botany 

 2. Physics 

 3. Zoology 

 4. Chemistry 

 &�öö �s��ýÙ¦ �<ó�ÇsÁ«+ýË 1837 d�+ööýË yîTT³¼yîTT<�{ìkÍ]>± sÁ̂ ÒýË � ç¿ì+~

d�uÉ̈Å£�¼qT ç|�yûXø�|{²¼sÁT. 

 1. e�¿£� XægeTT 

 2. uó�Ü¿£ XægeTT 

 3. È+ÔáT XægeTT 

 4. sÁkÍjáTq XægeTT 

 

126. ‘Heliocentric theory’ was proposed by  

 1. Copernicus 

 2. Ptolomy 

 3. Newton 

 4. Albert Einstein 

 d�ÖsÁ«¹¿+ç<�¿£ d¾<�Æ+ÔáeTTqT ç|�ÜbÍ~+ºq y�sÁT 

 1. ¿Ã|�]�¿£dt 

 2. {²ýÉ$T 

 3. qÖ«³H� 

 4. �\ÒsY¼ ×H�dÓ¼H� 

 

 

 

win
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win
Oval
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127. Aims of teaching Science are generally  

 1. Concrete  

 2. Short term goals 

 3. Abstract 

 4. Measurable 

 kÍ<ó�sÁD+>± $C²ãqXæg �<ûÝXæ«\T 

 1. eTÖs�ï\T 

 2. d�Ç\Î¿±*¿£ >·eÖ«\T 

 3. neTÖs�ï\T 

 4. ¿=\Tee#áTÌ 

 

128. To teach ‘heliocentric theory’ science teacher mainly has to take the 
help of this subject teacher  

 1. Geography 

 2. History 

 3. Biology 

 4. Arts 

 »d�ÖsÁ« ¹¿+ç<�¿£ d¾<Æ�+ÔáeTTµ qT uË~ó+#áT³Å£� $C²ãqXæg �bÍ<ó�«jáTT&�T  

eTTK«eTT>± �ç¿ì+~ $w�jáÖ�� uË~ó+#û �bÍ<ó�«jáTT� d�V�äjáT+ rd�T¿Ãy�* 

 1. uó�>Ã[¿£ XægeTT 

 2. #á]çÔá 

 3. JeXægeTT 

 4. ¿£Þø\T 

 

 

win
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Oval

win
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win
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129. Pick up the statement that refers to the objective of knowledge in 
learning Physical Science –  

 1. highest level of learning in Affective domain 

 2. lowest level of learning in Cognitive domain 

 3. lowest level of learning in Psychomotor domain 

 4. highest level of learning in Cognitive domain 

 $C²ãqXæg nuó�«d�qýË »C²ãqeTTµ qT d�Öº+#û n+Xæ�� m+|¾¿£ #ûjáT+&� `  

�~ 

 1. uó²y�yûXø sÁ+>·+ýË m>·Te kÍ�sTT nuó�«d�qeTT 

 2. C²ãH�Ôá�¿£ sÁ+>·+ýË ~>·Te kÍ�sTT nuó�«d�qeTT 

 3. eÖqd¾¿£ #á\H�Ôá�¿£ sÁ+>·+ýË ~>·Te kÍ�sTT nuó�«d�qeTT 

 4. C²ãH�Ôá�¿£ sÁ+>·+ýË m>·Te kÍ�sTT nuó�«d�qeTT 

 

130. The lowest level of objective in psychomotor domain is  

 1. Manipulation 

 2. Imitation 

 3. Precision  

 4. Articulation  

 eÖqd¾¿£ #á\H�Ôá�¿£ sÁ+>·+ýË nÜ ÔáÅ£�Øe kÍ�sTTýË >·\ \¿£�«eTT 

 1. V�²d�ïý²|��Te+ 

 2. nqT¿£sÁD 

 3. d�T�¥ÔáÔáÇ+ 

 4. d�eTqÇjáT+ 

 

 

win
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win
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win
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win
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131.  “The pupil analyses the types of lenses used for long sight and short 
sight” – this specification is related to this objective 

 1. Interest 

 2. Scientific Attitude 

 3. Understanding 

 4. Application 

 »»$<�«]� BsÁé<��w¾¼ eT]jáTT çV�²d�Ç<��w¾¼¿ì y�&û ¿£³¿±\ sÁ¿±\qT $Xâ¢w¾kÍï&�Tµµ ` 

nqT d�ÎwÓ¼¿£sÁDeTT ç¿ì+~ \¿�±«�¿ì d�+�+~ó+ºq~ 

 1. n_ósÁTº 

 2. $C²ãqXæg yîÕK] 

 3. ne>±V�²q 

 4. $�jîÖ>·+ 

 

132. “The pupil arranges given apparatus for the preparation of Carbon 
dioxide gas in the laboratory” comes under 

 1. Manipulation skill 

 2. Drawing  skill 

 3. Observation skill 

 4. Reporting skill 

 »»$<�«]� ç|�jîÖ>·Xæ\ýË ¿±sÁÒH� &îÕ �Â¿Õ à&� y�jáTTeÚ ÔájáÖsÁT#ûjáTT³Å£� 

�ºÌq |�]¿£s�\qT d�]>± neTsÁTkÍï&�Tµµ nqTq~ ..... 

 1. V�²d�ïý²|��Te HîÕ|�ÚD«eTT 

 2. ºçÔáýñKH� HîÕ|�ÚD«eTT 

 3. |�]o\H� HîÕ|�ÚD«eTT 

 4. �yû<�H� HîÕ|�ÚD«eTT 
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133. ‘Selection of objectives is not necessary in the preparation of lesson 
plan’ is the opinion given by  

 1. Socket 

 2. Leutome 

 3. Kelly 

 4. Arnell 

 M] �<ûÝXø«+ýË »»bÍsÄÁ«|�<ó�¿£ ÔájáÖ¯ýË \¿�±«\qT m+|¾¿£ #ûjáTe\d¾q ned�sÁ+

ýñ<�Tµµ  

 1. kÍÂ¿{Ù 

 2. \T«{Ëy�T 

 3. Â¿©¢ 

 4. �Âs�ýÙ 

 

134. ‘Commitment’ relates to this objective under affective domain 

 1. Responding 

 2. Organization 

 3. Receiving 

 4. Valuing 

 »��<�ÆÔáµ nqTq~ uó²y�yûXø sÁ+>·+ýË � ç¿ì+~ \¿�±«�¿ì d�+�+~ó+ºq~ 

 1. ç|�Üd�Î+~+#áT³ 

 2. e«ekÍ�|�q 

 3. ç>·V¾²+#áT³ 

 4. $\Te¿£³T¼³ 

 

 

 

win
Oval

win
Oval

win
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win
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135. An important feature of Inductive method is, it 

 1. Saves time 

 2. Stresses on rote memory 

 3. is a Psychological method 

 4. Teacher’s work is simplified 

 �>·eTq |�<�ÆÜ eTTK« \¿£�DeTT 

 1. ¿±\eTT bõ<�T|�Ú #ûjáT�&�TÔáT+~ 

 2. �{¡¼ d�� �Ü¿ì mÅ£�Øe çbÍ<ó�q«eTT �eÇ�&�TÔáT+~ 

 3. �~ ÿ¿£ eTHÃyîÕC²ã�¿£ |�<�ÆÜ 

 4. �bÍ<ó�«jáTT�|�� Ôá>·TZÔáT+~ 

 

136. The more suitable method to teach “Procedure to write electronic 
configuration of elements” to class X Physical Science students 

 1. Heuristic Method  

 2. Lecture Method 

 3. Lecture – Demonstration Method 

 4. Project Method 

 |�<�e ÔásÁ>·Ü $C²ãqXæg $<�«sÁT�\Å£� »eTÖ\¿±\ m\ç¿±¼H� $H�«d�eTT çy��d 

|�<�ÝÜµ nHû n+Xæ�� uË~ó+#áT³Å£� nqTyîÕq �ÔáïeT |�<�ÆÜ 

 1. nHûÇw�D² |�<�ÆÜ 

 2. �|�H�«d� |�<�ÆÜ 

 3. �|�H�«d�̀ ç|�<�sÁôH� |�<�ÆÜ 

 4. ç|�¿£\ÎH� |�<�ÆÜ 

 

 

win
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win
Oval

win
Oval

win
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137. The best method suitable to teach the ‘working of compound 
microscope’ is  

 1. Lecture method 

 2. Lecture demonstration method 

 3. Laboratory method 

 4. Project method 

 »d�+jáTT¿£ï d�Ö¿£��<�]ô� |��#û�d $<ó�q+µ uË~ó+#áT³Å£� u²>± nqTyîÕq |�<�ÆÜ 

 1. �|�H�«d� |�<�ÆÜ 

 2. �|�H�«d� ç|�<�sÁôH� |�<�ÆÜ 

 3. ç|�jîÖ>·Xæ\ |�<�ÆÜ 

 4. ç|�¿£\ÎH� |�<�ÆÜ 

 

138. The desirable behaviour in ‘skill of explaining’ is  

 1. Use of inappropriate vocabulary 

 2. Use of irrelevant statements 

 3. Use of explaining links  

 4. Use of vague words 

 »$esÁD²Ôá�¿£ HîÕ|�ÚD«+µ jîTT¿£Ø y�+#óáújáT ç|�esÁïq ... 

 1. nqqT>·TD«yîT®q |�<�C²\+ y�&�T³ 

 2. nd�+�<�Æ ç|�e#áH�\T y�&�T³ 

 3. $esÁD �+<ó�\qT y�&�T³ 

 4. d�+~>·Æ |�<�\T y�&�T³ 
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139. The principle of programmed learning involved in each frame where 
testing and verification of the answers given by the pupil takes place 
is 

 1. Principle of self pacing  

 2. Principle of immediate reinforcement 

 3. Principle of active responding 

 4. Principle of small steps 

 »»ç|�Ü #áç³+ýË $<�«]� �ºÌq d�eÖ<ó�q+ |�̄ ¿ì�+#á&�+, �s�Æ]+#á&�+µµ nHû  

n+XøeTTýË �$T&� �q� ¿±sÁ«ç¿£eTjáTTÔá nuó�«d�q eTTK« d�ÖçÔáeTT 

 1. dÓÇjáT>·eTq d�ÖçÔáeTT 

 2. Ôá¿£�D |�ÚqXøÌsÁD d�ÖçÔáeTT 

 3. ç¿ìjáÖÔá�¿£ ç|�Üd�Î+<�q d�ÖçÔáeTT 

 4. ºq�kþbÍH�\ d�ÖçÔáeTT 

 

140. “A unit is as large a block of related subject-matter as can be 
overviewed by the learner” ... This definition is given by 

 1. Preston 

 2. Morrison 

 3. Sanford 

 4. Bossing 

 »»$<�«]� #áÖ&�>·*¹> |�sÁd�ÎsÁ d�+�+<ó�+ >·\ bÍsÄÁ«$w�jáÖ\ d�yîT®¿£«yîT®q  

uó²>·yûT jáTÖ�{Ùµµ � �sÁÇ#áq+ #î|¾Îqy�sÁT 

 1. ç�|�d¼H� 

 2. eÖ]d�H� 

 3. kÍH�bþsY¦ 

 4. u²d¾+>´ 
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141. “The validity of the generalizations arrived at by the pupils is tested” 
is done through this step in the Herbartian approach of lesson 
planning. 

 1. Comparison  

 2. Recapitulation 

 3. Application 

 4. Presentation 

 »»$<�«sÁT�\ <�Çs� eºÌq kÍ<ó�sÁD¡¿£sÁD²\ d�ç|�eÖDÔá |�̄ ¿ì�+#á&�+µµ nqTq~ 

�V²s�ÒsY¼ bÍsÄÁ« |�<�̧¿£ �|�>·eT+ýË� � ç¿ì+~ kþbÍqeTTýË ÈsÁT>·TqT 

 1. bþ*¿£ 

 2. |�Úq'XøÌsÁD 

 3. nqÇjáT+ 

 4. V�äÈsÁT |�sÁ#á&�+ 

 

142. The students will get direct experience through the following 

 1. Separating mixtures by sublimation in the laboratory 

 2. Explanation of Solar family through a chart 

 3. Listening to the Characteristics of Electromagnetic waves 

 4. Observing the model of blast furnace 

 � ç¿ì+~ n+Xæ�� nuó�«d¾+#áT³ <�Çs� $<�«sÁT�\ýË ç|�Ôá«¿£� nqTuó�e+  

¿£\T>·TÔáT+~ 

 1. ç|�jîÖ>·Xæ\ýË �ÔáÎÔáq+ <�Çs� $TçXøeÖ\qT yûsÁT#ûjáTT³ 

 2. kåsÁÅ£�³T+� uó²eqqT #ó�sÁT¼ <�Çs� $e]+#áT³ 

 3. $<�T«<�jáTkÍØ+Ôá ÔásÁ+>±\ \¿£�D²\qT Ôî*d¾¿=qT³ 

 4. u²¢dt¼ |��¹s�dt qeTÖH�qT |�]o*+#áT³ 
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143. The most concrete experience in the cone of experience is  

 1. Dramatized experiences  

 2. Direct purposeful experiences 

 3. Demonstrations 

 4. Field trips 

 »nqTuó�y�\ Xø+KTµ ýË nÔá«+Ôá eTÖsÁï nqTuó�eeTT 

 1. H�³¿¡¿£sÁD nqTuó�y�\T 

 2. ç|�Ôá«¿£� ç|�jîÖÈH�Ôá�¿£ nqTuó�y�\T 

 3. ç|�<�sÁôq\T 

 4. ¹¿�çÔá |�sÁ«³q\T 

 

144. Films showing “Change of seasons” comes under  

 1. Revision films 

 2. Films dramatizing an event 

 3. General information films 

 4. Process films 

 »»�TTÔáTeÚ\ eÖsÁTÎ\qTµµ #áÖ�| #á\q ºçÔ�\T 

 1. |�Úq]ÇeTsÁô #á\q ºçÔ�\T 

 2. ÿ¿£ d�+|��T³qqT H�³¿¡¿£]+º #áÖ�| ºçÔ�\T 

 3. kÍ<ó�sÁD d�eÖ#�s��¿ì d�+�+~ó+ºq ºçÔ�\T 

 4. |�<�ÝÔáT\qT Ôî*jáTCñ�d #á\q ºçÔ�\T 
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145. One of the following is a projected aid  

 1. Radio 

 2. Slides 

 3. Models 

 4. TV 

 ç¿ì+~ y��ýË ÿ¿£{ì ç|�¹¿�|¾Ôá �|�¿£sÁDeTT 

 1. ¹s&�jîÖ 

 2. �d¢í&�T\T 

 3. qeTÖH�\T 

 4. {ì.$. 

 

146. If a student swallows acid by mistake in the laboratory, after 
washing the mouth with right amount of water he has to be given the 
following. 

 1. Sodium bicarbonate 

 2. Tartaric acid 

 3. Dilute Boric acid 

 4. Lime juice 

 ç|�jîÖ>·Xæ\ýË $<�«]� bõsÁbÍ³Tq �eÖ¢�� çÔ�ÐÔû HÃ{ì� ÔáÐq+Ôá ú{ìÔÃ  

¿£&�Ðq Ôás�ÇÔá ç¿ì+~ ç<�eD+ çÔ�Ð+#�* 

 1. kþ&�jáT+ uÉÕ ¿±sÃÒHû{Ù 

 2. {²s�¼]¿ù �eT¢eTT 

 3. d�È\ uË]¿ù �eT¢eTT 

 4. �eT�sÁd�+ 
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147. Before polishing iron articles in the laboratory, the rust on them 
should be removed by using 

 1. Filter paper 

 2. Glass cloth 

 3. Emery paper 

 4. Tissue paper 

 ç|�jîÖ>·Xæ\ýË �qT|� ed�TïeÚ\qT bÍ*wt #ûjáTT³Å£� eTT+<�T, <���|Õ  

çÔáT|�ðqT ç¿ì+~ <��ÔÃ Ô=\Ð+#�* 

 1. |�¾\¼sY ¿±ÐÔáeTT 

 2. >±¢dt ¿±¢ÔY 

 3. meT¯ ¿±ÐÔáeTT 

 4. {ìw�O« ¿±ÐÔáeTT 

 

148. The details of the articles like ‘Retort Stands’ purchased for the 
laboratory are to be entered in this register 

 1. Breakable stock register 

 2. Non Breakable stock register 

 3. Consumable stock register 

 4. Temporary stock register  

 ç|�jîÖ>·Xæ\ ¿Ãd�+ ¿=q� »]{²sÁT¦ kÍ¼+&�Tµ ý²+{ì ed�TïeÚ\ $es�\T �  

ç¿ì+~ ]�w�¼sÁTýË qyîÖ<�T #ûjáÖ* 

 1. |�Ðýñ ed�TïeÚ\ kÍ¼¿ù ]�w�¼sÁT 

 2. |�>·\� ed�TïeÚ\ kÍ¼¿ù ]�w�¼sÁT 

 3. $�eTjáT ed�TïeÚ\ kÍ¼¿ù ]�w�¼sÁT 

 4. Ô�Ô�Ø*¿£ kÍeÖçÐ kÍ¼¿ù ]�w�¼sÁT 
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149. Size/measurements of these articles need not be mentioned to get the 
quotations for the purchase of the following items for the laboratory 

 1. Bar Magnet 

 2. Test tubes 

 3. Batteries 

 4. Round Bottomed Flasks 

 ç|�jîÖ>·Xæ\ kÍeÖçÐ ¿=qT>Ã\T ¿=sÁÅ£� Ôî|¾Î+#áT¿=Hû ¿=fñw�H�à q+<�T ç¿ì+~ 

ed�TïeÚ ¿=sÁÅ£� <�� |�]eÖD+/¿=\Ôá\qT Ôî\T|�e\d¾q ned�sÁeTT ýñ<�T 

 1. <�+&�jáTkÍØ+Ô�\T 

 2. |�̄ ¿£� H�[¿£\T 

 3. u²«³¯\T 

 4. >·T+ç&�� eT³¼+>·\ >±EÅ£��|Î\T 

 

150. Apart from child’s different needs and capabilities, individual 
differences are also to be kept in mind in the construction of 
curriculum – this relates to this principle of curriculum construction 

 1. Principle of conservation 

 2. Principle of Articulation 

 3. Principle of Integration 

 4. Principle of elasticity and variety 

 »bÍsÄÁ«ç|�D²[¿£ �s��D+ýË |¾\¢\ $$<ó� ned�s�\T eT]jáTT kÍeTs��«ýñ  

¿±Å£�+&� y�] yîÕjáT¿ìï¿£ uóñ<�\T Å£L&� eTqd�TàýË �+#áT¿Ãy�*µ ..... �~  

bÍsÄÁ« ç|�D²[¿£ jîTT¿£Ø � e«edÓ�¿£sÁD d�ÖçÔ��¿ì d�+�+~ó+ºq~ 

 1. |�]sÁ¿£�D d�ÖçÔáeTT 

 2. ¿£*|¾ �+&û d�ÖçÔáeTT 

 3. d�yîT®¿£«Ô� d�ÖçÔáeTT 

 4. qeT«Ôá, yîÕ$<ó�«Ô� d�ÖçÔá+ 
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151. One of the following is an important characteristic of curriculum 

 1. Rigid 

 2. Static 

 3. Dynamic 

 4. Constant 

 bÍsÄÁ« ç|�D²[¿£ eTTK« \¿£�D+ 

 1. eÖsÁ�~ 

 2. nqeT«+ 

 3. #îÕÔáq«e+ÔáeTT 

 4. d¾�sÁ+ 

 

152. The difficulty level of topics in ‘Magnetism’ are dealt in a 
progressive manner in different classes. This approach of curriculum 
organization is 

 1. Concentric approach 

 2. Topical approach 

 3. Logical approach 

 4. Unit approach 

 ç¿ì+~ bÍsÄÁ« ç|�D²[¿± e«edÓ�¿£sÁD |�<�ÆÜýË »njáTkÍØ+ÔáÔáÇeTTµ bÍsÄ�«+XøeTT 

jîTT¿£Ø $w�jáÖ\ ¿ì¢w�¼Ôá $$<ó� ÔásÁ>·ÔáT\ýË ç¿£eT+>± �|sÁT>·TÔáÖ �+³T+~ `  

n~ 

 1. @¿£¹¿+ç<�¿£ |�<�ÝÜ 

 2. o]ü¿± |�<�ÝÜ 

 3. Ô�]Ø¿£ ç¿£eT |�<�ÝÜ 

 4. jáTÖ�{Ù |�<�ÝÜ 
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153. The Department of Science and Technology started ‘INSPIRE’ 
award scheme from this academic year 

 $C²ãq kÍ+¹¿Ü¿£ $uó²>·+ y�]#û »�H��díÎsYµ ny�sÁT¦ dÓØ+ çbÍsÁ+uó�+¿±�&�q 

$<�«d�+eÔáàsÁeTT 

 1. 2006-2007 

 2. 2007-2008 

 3. 2010-2011 

 4. 2011-2012 

 

154. An important feature of science library is – it should 

 1. be broader in scope 

 2. contain books and Periodicals 

 3. develop knowledge 

 4. develop scientific values and skills 

 �dÕqTà ç>·+<¸�\jáT+ jîTT¿£Ø eTTK« \¿£�DeTT ` �~ 

 1. $d�ï �Ôá |�]~ó� ¿£*Ð �+&�* 

 2. |�Úd�ï¿±\T, |Ó]jáÖ&�¿£ýÙàqT ¿£*Ð �+&�* 

 3. C²ãH��� �|+bõ+~+#á>·\>±* 

 4. XæçdÓïjáT $\Te\T, HîÕ|�ÚD²«\qT �|+bõ+~+#á>·\>±* 
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155. “Developing space technology and its application to various national 
tasks” is the prime objective of this governmental organization in 
popularizing science 

 »»n+Ôá]¿£� kÍ+¹¿Ü¿£qT n_óe�~Æ |�]º <��� C²rjáT d�eTd�«*�  

m<�Ts=Øq&�+ýË nqTç|�jáTT¿£ï+ #ûjáT&�+µµ nqTq~, $C²ãqXæg ç|�#�sÁ+ýË  

�eT>·�yîT®q � ç¿ì+~ d�+d�� eTTK« �<ûÝXø«eTT 

 1. DST 

 2. CSIR 

 3. ISRO 

 4. CCMB 

  

156. A technical criteria of a good test is 

 1. Objectivity  

 2. Ease of Interpretation 

 3. Ease of Scoring 

 4. Acceptability 

 ÿ¿£ eT+º �¿£w� jîTT¿£Ø kÍ+¹¿Ü¿£ ç|�eÖDeTT 

 1. \¿�±«Ôá�¿£Ôá 

 2. d�T\uó� y�«U²«qeTT 

 3. d�T\uó� >·Dq 

 4. �yîÖ<� jîÖ>·«Ôá 
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157. This type of evaluation helps to design the course and curricula 
according to the capabilities of the learner 

 1. Formative evaluation 

 2. Diagnostic evaluation 

 3. Summative evaluation 

 4. External evaluation  

 nuó²«d�Å£�� kÍeTs��«\ �<ó�sÁ+>± ¿ÃsÁTà eT]jáTT ç|�D²[¿£qT �sÁ�sTT+#á&��¿ì

�|�jîÖÐ+#áT eTÖý²«+¿£qeTT 

 1. sÁÖbÍÔá�¿£ eTÖý²«+¿£qeTT 

 2. ýË|��s�ÝsÁD eTÖý²«+¿£qeTT 

 3. d�+¿£\q eTÖý²«+¿£qeTT 

 4. �V¾²sÁZÔá eTÖý²«+¿£qeTT 

 

158. One of the following is an ‘inquiry form’ 

 1. Interview 

 2. Records 

 3. Check list 

 4. Aptitude test 

 ç¿ì+~ y��ýË ÿ¿£{ì »�+Â¿íÇ¯ b�ÍsY�µ 

 1. |�]|��#áÌ 

 2. ]¿±sÁT¦\T 

 3. XË<ó�q d�Öº¿£ 

 4. d�V�²C²Ôá |�̄ ¿£� 
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159. “When a Physical Science test is lengthened, reliability is likely to 
_____” this type of questioning is 

 1. Supply type 

 2. True or false question 

 3. Analogy type 

 4. Identify the answer type 

 »»ÿ¿£ uó�Ü¿£Xæg |�̄ ¿£� BsÁé+>± �+fñ <�� $XøÇd�újáTÔá �V�QXø _____µµ �~

�sÁ¿£|�Ú ç|�Xø�\ sÁ¿£eTT 

 1. d�eÖ<ó�H��� d�sÁ|��s� #û�d sÁ¿±\T 

 2. Ôá|�ð ÿ|�ð d�eÖ<ó�q ç|�Xø� 

 3. kÍsÁÖ|�« ç|�Xø� 

 4. d�eÖ<ó�H��� m+#áTÅ£�Hû sÁ¿£eTT 

 

160. An example for self reporting technique is 

 1. Observation 

 2. Intelligence test 

 3. Rating scale 

 4. Questionnaire 

 ç¿ì+~ y��ýË ÿ¿£{ì dÓÇjáT $esÁD kÍ<ó�qeTT 

 1. |�]o\q 

 2. ç|�C²ã |�̄ ¿£� 

 3. �s�ÝsÁD eÖ|�� 

 4. ç|�Xæ�e[ 
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